
 S-1 

 
Total Synthesis of (+)-Chaetocin and its Analogs: Their Histone 

Methyltransferase G9a Inhibitory Activity 
 

Eriko Iwasa,†,‡ Yoshitaka Hamashima,† Shinya Fujishiro,†,¶ Eisuke Higuchi,† Akihiro Ito,† Minoru 
Yoshida,† and Mikiko Sodeoka,*,†,§ 

 
Advanced Science Institute, RIKEN, 2-1 Hirosawa, Wako, Saitama 351-0198, Japan, Graduate 
School of Science and Engineering, Saitama University, 255 Shimo-okubo, Sakura-ku, Saitama 

338-8570, Department of Environmental Materials Science, School of Engineering, Tokyo 
Denki University, 2-2 Kanda-Nishiki-cho, Chiyoda-ku, Tokyo, 101-8457, Japan, and Sodeoka 

Live Cell Chemistry Project, ERATO, Japan Science and Technology Agency 
 

sodeoka@riken.jp 
 

Supporting Information 
 
(A) Complete Ref. 3c. 
(B) General  
(C) Total synthesis of (+)-chaetocin 
(D) Conversion and structural determination of tetracyclic DKP 10. 
(E) Total synthesis of ent-chaetocin 
(F) Synthesis of S-deficient analogs 
(G) HMT G9a–inhibitory activity assay 
(H) Additional note-1: Dimerization of 10 and α-oxidation of the obtained octacyclic ring 
system 
(I) Additional note-2: Details of the synthesis of DKP 9. 
(J) Additional note-3: Stereochemical model of bromocyclization (9 -> 10) 
(K) Additional note-4: Details of radical bromination 
(L) Additional note-5: On the stereochemistry of diols  
(M) Additional note-6: Stereochemical models of H2S-substitution. 
(N) NMR spectra 
 
 
 
 
 
 



 S-2 

(A) Complete Ref. 3c 
Liu, F.; Chen, X.; Allali-Hassani, A.; Quinn, A. M.; Wasney, G. A.; Dong, A.; Barsyte, D.; 
Kozieradzki, I.; Senisterra, G.; Chau, I.; Siarheyeva, A.; Kireev, D. B.; Jadhav, A.; Herold, J. M.; Frye, 
S. V.; Arrowsmith, C. H.; Brown, P. J.; Simeonov, A.; Vedadi, M.; Jin, J. J. Med. Chem. 2009, 52, 
7950. 
 
(B) General 
    NMR spectra were recorded on a JEOL JNM-ECP500 spectrometer operating at 500 MHz for 1H 
NMR, 125 MHz for 13C NMR or a JEOL JNM-ECP400 spectrometer operating at 400 MHz for 1H 
NMR.  Chemical shifts were reported downfield from TMS (= 0) or in a scale relative to the solvent 
signal as an internal reference for 1H NMR.  For 13C NMR, chemical shifts were reported in a scale 
relative to the solvent signal as an internal reference.  IR was measured on a Thermo Nicolet 
AVATAR 370 FT-IR.  Optical rotations were measured on a JASCO DIP-370 polarimeter.  In 
some cases, purification was carried out using Yamazen medium-pressure liquid chromatography 
(MPLC) systems [pump, 580-D; UV-detector, prepUV-10VW; column, Yamazen HI-FLASHTM or 
Ultra PackTM SI-40A or KUSANO pre-packed SiO2 column; eluent, n-hexane/ethyl acetate or 
chloroform/methanol].  Column chromatography was performed with silica gel 60 (40-100 µm) 
purchased from KANTO CHEMICAL Co., INC.  Dehydrated N,N-dimethylformamide (DMF), 
acetonitrile, stabilizer-free tetrahydrofuran (THF), and dichloromethane were purchased from 
KANTO CHEMICAL Co., INC.  Dehydrated acetone was purchased from Wako Pure Chemical 
Industries, Ltd.  N-Bromosuccinimide was recrystallized from water and dried over P2O5 under 
vacuum before use.  Other solvents and reagents used in this paper were purchased and used as 
received.  N-Benzyloxycarbonyl-N-methyl-D-serine (7) was synthesized from D-serine according to 
the reported procedure.1  Natural (+)-chaetocin was purchased from Sigma-Aldrich. 
 
Numbering system: 
    Based on a numbering system employed in Movassaghi’s paper,2 we employ the following 
numbering system in this Supporting Information.  The numbers assigned for early synthetic 
intermediates to specify positions of interest are in accord with the corresponding carbons in 
(+)-chaetocin. 

                                                
1 Aurelio, L.; Box, J. S.; Brownlee, R. T. C.; Hughes, A. B.; Sleebs, M. M. J. Org. Chem. 2003, 68, 2652. 
2 Kim, J.; Ashenhurst, J. A.; Movassaghi, M. Science 2009, 324, 238. 



 S-3 

N

MeN

H
N

O

O
H

N

NMe

N
H

O

O
H

OH

OH

S2

S2

(+)-Chaetocin (1)

3

2

1

5

7
10

11
12

13

15

17
16

18

8

6
4

9

14

 
 
(C) Total synthesis of (+)-chaetocin 
  (C-1) Synthesis of DKP 9 

EDC • HCl

HOBt, Et3N

DMF

91%

MeO2C

N
H

N

OH

O

ZMe

NH

NHO2C

HO

Me

Z

7 S-15

NH2•HCl

CO2Me

NH

+

8  

    To a solution of 7 (14.3 g, 56.4 mmol) and D-tryptophan methyl ester hydrochloride 8 (14.4 g, 
56.4 mmol) and triethylamine (7.9 mL, 56.7 mmol) in N,N-dimethylformamide (180 mL) were added 
1-ethyl-3-(3-dimethylaminopropyl)carbodiimide hydrochloride (11.9 g, 62.1 mmol) and 
1-hydroxybenzotriazole monohydrate (9.15 g, 67.7 mmol) at –20 °C.  The reaction mixture was 
allowed to warm up to room temperature and then stirred over night.  After removal of the solvent in 
vacuo, the obtained residue was diluted with ethyl acetate (700 mL).  The organic layer was washed 
with 5% aqueous sodium bicarbonate solution (4 x 500 mL), 10% aqueous citric acid solution (4 x 
500 mL), and water (3 x 500 mL).  The organic layer was dried over anhydrous sodium sulfate and 
concentrated in vacuo. Further purification was performed by flash column chromatography 
(chloroform/methanol = 99/1 to 95/5) to give S-15 (23.4 g, 91%) as colorless gum. 
S-15:  
1H NMR (500 MHz, CDCl3, 55 °C) δ: 2.59 (br s, 1H, OH), 2.65 (s, 3H, C18H3), 3.21 (dd, J = 6.6 Hz, 
14.9 Hz, 1H, C12H), 3.29 (dd, J = 5.3 Hz, 14.9 Hz, 1H, C12H), 3.69 (s, 3H, OCH3), 3.78 (br s, 1H, 
C17H), 3.95-4.00 (m, 1H, C15H), 4.58 (br s, 1H, C17H), 4.83-4.87 (m, 1H, C11H), 5.07 (br s, 2H, 
PhCH2), 6.50 (br s, 1H, N10H), 6.84 (s, 1H, C2H), 7.08 (t, J = 7.6 Hz, 1H, C6H), 7.15 (t, J = 7.6 Hz, 
1H, C7H), 7.28 (d, J = 7.6 Hz, 1H, C5H), 7.25-7.40 (m, 5H, PhCH2OCON), 7.80 (d, J = 7.6 Hz, 1H, 
C8H), 7.84 (br s, 1H, N1H). 
13C NMR (125 MHz, CDCl3, 55 °C) δ: 27.6 (C12), 31.8 (C18), 52.5 (OCH3), 52.8 (C11), 60.6 (C15), 
61.1 (C17), 67.9 (PhCH2OCON), 109.9 (C3), 111.5 (C5), 118.5 (C8), 119.9 (C6), 122.5 (C7), 123.0 
(C2), 127.5 (C4), 128.1 (PhCH2OCON), 128.4 (PhCH2OCON), 128.7 (PhCH2OCON), 136.5 (C9 and 



 S-4 

PhCH2OCON), 170.3 (C16), 172.2 (C13). 
[α]D: +6.8 (CHCl3, c 1.0, 25 °C) 
FTIR (neat) cm-1: 3321 (br), 2953 (m), 1666 (s), 744 (s). 
LRMS (ESI) (m/z): 476 [M+Na]+ 
                 

MeO2C

N
H

N

OH

O

ZMe

NH

TBSCl
Imidazole

DMF

quant.

MeO2C

N
H

N

OTBS

O

ZMe

NHS-15 S-16  

    To a solution of S-15 (38.7 g, 85.2 mmol) and imidazole (13.9 g, 204 mmol) in dry 
N,N-dimethylformamide (0.4 M, 210 mL) was added tert-butyldimethylchlorosilane (15.4 g, 226 
mmol) under nitrogen atmosphere.  After stirring over night at room temperature, the reaction 
mixture was concentrated in vacuo.  The obtained residue was dissolved in ethyl acetate (400 mL), 
then washed with water (3 x 200 mL) and brine (150 mL).  The organic layer was dried over 
anhydrous sodium sulfate and concentrated in vacuo to give crude S-16 (48.8 g, quant.) as pale yellow 
gum.  A small crude sample was further purified by GPC for spectroscopic analysis. 
S-16:  
1H NMR (500 MHz, CDCl3, 55 °C) δ: –0.01 (s, 3H, Si(CH3)2), 0.00 (s, 3H, Si(CH3)2), 0.82 (9H, s, 
SiC(CH3)3), 2.72 (s, 3H, C18H3), 3.23 (dd, J = 5.5 Hz, 11.9 Hz, 1H, C12H), 3.31 (dd, J = 5.5 Hz, 11.9 
Hz, 1H, C12H), 3.67 (s, 3H, OCH3), 3.84 (br s, 1H, C17H), 4.03 (dd, J = 6.4 Hz, 10.5 Hz, 1H, C17H), 
4.08 (br s, 1H, C15H), 4.88 (br s, 1H, C11H), 5.10 (br s, 2H, PhCH2OCON), 6.89 (br s, 1H, C2H), 7.08 
(t, J = 7.5 Hz, 1H, C6H), 7.16 (t, J = 7.5 Hz, 1H, C7H), 7.29 (d, J = 7.5 Hz, 1H, C5H), 7.20-7.40 (m, 
5H, PhCH2OCON), 7.51 (br d, J = 6.9 Hz, 1H, C8H), 7.96 (br, 1H, N1H). 
13C NMR (125 MHz, CDCl3, 55 °C) δ: –5.53 (SiCH3), –5.45 (SiCH3), 18.1 (SiC(CH3)3), 25.8 
(SiC(CH3)3), 27.8 (C12), 31.6 (C18), 52.3 (OCH3), 52.9 (C11), 60.8 (C17), 61.4 (C15), 67.7 
(PhCH2OCON), 110.3 (C4), 111.4 (C5), 118.7 (C8), 119.9 (C6), 122.4 (C7), 122.9 (C2), 127.8 
(PhCH2OCON), 128.1 (PhCH2OCON), 128.2 (PhCH2OCON), 128.7 (PhCH2OCON), 136.5 (C9), 
136.9 (PhCH2OCON), 169.3 (C16), 172.2 (C13). 
[α]D: –8.2 (c 0.86, CHCl3, 23 °C) 
FTIR (neat) cm-1: 3338 (br), 2952 (m), 2930 (m), 1741 (s), 1690 (s), 1676 (m), 1154 (s), 1112 (s), 839 
(s), 742 (s). 
LRMS (ESI) (m/z): 590 [M+Na]+ 
 



 S-5 

MeO2C

N
H

N

OTBS

O

Me

NH

Z
MeO2C

N
H

N

OTBS

O

Me

N

Z

Boc

S-16 S-17

(Boc)2O

DMAP

MeCN, 0 °C

96%  
    To a solution of S-16 (17.6 g, 30.9 mmol) in dry acetonitlile (80 mM, 390 mL) was added 
4-dimethylaminopyridine (378 mg, 3.09 mmol) at 0 °C.  Then di-tert-butyl dicarbonate (7.44 g, 34.0 
mmol) in dry acetonitrile (30 mL) was added dropwise over 25 min.  The reaction mixture was 
stirred at 0 °C for 5 h.  Then additional di-tert-butyl dicarbonate (733 mg, 3.36 mmol) in dry 
acetonitrile (30 mL) was added dropwise.  After further stirring for 90 min, the reaction mixture was 
concentrated in vacuo.  Further purification by flash column chromatography (hexane/acetone = 
20/80) was carried out to give S-17 (19.9 g, 96%) in a white amorphous form. 
S17:  
1H NMR (400 MHz, CDCl3, 50 °C) δ: 0.00 (s, 3H, SiCH3), 0.01 (s, 3H, SiCH3), 0.81 (s, 9H, 
SiC(CH3)3), 1.66 (s, 9H, (CH3)3COCON), 2.80 (s, 3H, C18H3), 3.17 (dd, J = 5.6 Hz, 14.6 Hz, 1H, 
C12H), 3.26 (dd, J = 5.6 Hz, 14.6 Hz, 1H, C12H), 3.69 (s, 3H, OCH3), 3.84 (br s, 1H, C17H), 4.05 (dd, 
J = 6.6, 10.7 Hz, 1H, C17H), 4.63 (br s, 1H, C15H), 4.91 (app. br d, J = 5.6 Hz, 1H, C11H), 5.10 (m, 
2H, PhCH2OCON), 7.00 (br s, 1H, N10H), 7.21 (t, J = 7.7 Hz, 1H, C6H), 7.27-7.36 (m, 7H, C2H, C7H, 
PhCH2OCON), 7.46 (br s, 1H, C5H), 8.10 (d, J = 7.7 Hz, 1H, C8H). 
13C NMR (125 MHz, CDCl3) δ: –5.56 (SiCH3), –5.50 (SiCH3), 18.1 (SiC(CH3)3), 25.8 (SiC(CH3)3), 
27.6 (C12), 28.4 ((CH3)3COCON), 32.1 (C18), 52.4 (OCH3), 52.7 (C11), 61.0 (C17), 61.4 (C15), 67.7 
(PhCH2OCON), 83.8 ((CH3)3COCON), 115.2 (C3), 115.5 (C5), 118.9 (C8), 122.8 (C6), 124.2 (C2), 
124.7 (C7), 128.0 (PhCH2OCON), 128.1 (PhCH2OCON), 128.6 (PhCH2OCON), 130.7 (C4), 135.6 
(C9), 136.7 (PhCH2OCON), 149.7 ((CH3)3COCON), 169.4 (C16), 171.8 (C13). 
[α]D: –18 (c 1.0, CHCl3, 26 °C) 
FTIR (neat) cm-1: 3322 (br), 2953 (m), 2929 (m), 2856 (m), 1729 (s), 1691 (s), 1678 (s), 1255 (s), 
1158 (s), 839 (s), 748 (s). 
LRMS (ESI) (m/z): 690 [M+Na]+ 
 

MeO2C

N
H

N

OTBS

O

Me

N

Z

Boc

MeO2C

N
H

HN

OTBS

O

Me

N

Boc

H2, 10 % Pd/C

MeOH, rt

quant.
S-17 S-18

 

    To a solution of S-17 (21.4 g, 32.1 mmol) in ethanol (100 mM, 320 mL) was added 10% Pd/C 
(3.39 g, 10 mol% Pd).  After replacement of the inner gas with hydrogen (balloon), the resulting 



 S-6 

mixture was stirred for 5 h.  The reaction mixture was diluted with ethyl acetate, then filtered 
through Celite® with ethyl acetate washing.  Concentration in vacuo gave crude S-18 (18.9 g, quant.) 
as colorless gum.  A small crude sample was further purified by MPLC (column: Yamazen High 
Flash, chloroform/methanol = 63/37 to 95/5) for spectroscopic analysis. 
S18: 
1H NMR (500 MHz, CDCl3, 50 °C) δ: 0.02 (s, 3H, SiCH3), 0.04 (s, 3H, SiCH3), 0.85 (s, 9H, 
SiC(CH3)3), 1.66 (s, 9H, (CH3)3COCON), 2.38 (s, 3H, C18H3), 3.05 (dd, J = 4.2 Hz, 7.8 Hz, 1H, 
C15H), 3.19 (dd, J = 6.0 Hz, 14.8 Hz, 1H, C12H), 3.22 (dd, J = 6.0 Hz, 14.8 Hz, 1H, C12H), 3.52 (dd, J 
= 7.8 Hz, 10.1 Hz, 1H, C17H), 3.67 (s, 3H, OCH3), 3.81 (dd, J = 4.2 Hz, 10.1 Hz, 1H, C17H), 4.92 (dt, 
J = 6.0 Hz, 8.3 Hz, 1H, C11H), 7.21 (t, J = 7.8 Hz, 1H, C6H), 7.29 (t, J = 7.8 Hz, 1H, C7H), 7.39 (s, 
1H, C2H), 7.50 (d, J = 7.8 Hz, 1H, C5H), 7.86 (d, J = 8.3 Hz, 1H, N10H), 8.10 (d, J = 7.8 Hz, 1H, 
C8H). 
13C NMR (125 MHz, CDCl3, 50 °C) δ: –5.40 (SiCH3), –5.32 (SiCH3), 18.3 (SiC(CH3)3), 25.9 
(SiC(CH3)3), 27.9 (C12), 28.3 ((CH3)3COCON), 35.3 (C18), 52.1 (OCH3), 52.3 (C11), 63.2 (C17), 66.9 
(C15), 83.6 ((CH3)3COCON), 115.4 (C3 and C8), 119.0 (C5), 122.6 (C6), 124.1 (C2), 124.6 (C7), 130.7 
(C4), 135.6 (C9), 149.6 ((CH3)3COCON), 171.8 (C16), 172.1 (C13). 
[α]D: –22 (c 1.4, CHCl3, 26 °C) 
FTIR (neat) cm-1: 3348 (br), 2952 (m), 2931 (m), 2884 (m), 2857 (s), 1735 (s), 1372 (s), 1255 (s), 
1158 (s), 1088 (s), 838 (s). 
LRMS (ESI) (m/z): 556 [M+Na]+ 
 

MeO2C

N
H

HN

OTBS

O

Me

N

Boc

28% NH4OH aq. (4 vol%)

MeOH (6 mM), rt

79%

HN

N

O

O OTBS

Me

N

Boc

9

S-18

 
    To a solution of S-18 (184 mg, 345 µmol) in methanol (6 mM, 54 mL) was added 28% aqueous 
NH4OH solution (2.0 mL) at room temperature.  After stirring for 27 h, additional 28% aqueous 
NH4OH solution (2.0 mL) was added and the mixture was stirred for additional 31 h, after which time 
TLC indicated complete consumption of the starting material.  The reaction mixture was 
concentrated in vacuo, and further purification by flash column chromatography (hexane/ethyl acetate 
= 30/70 to 0/100) gave 9 (136 mg, 79%) as white solid. 
DKP 9:  
1H NMR (500 MHz, CDCl3, 50 °C) δ: 0.13 (s, 6H, Si(CH3)2), 0.94 (s, 9H, SiC(CH3)3), 1.67 (s, 9H, 
(CH3)3COCON), 3.02 (s, 3H, C18H3), 3.07 (dd, J = 11.0 Hz, 14.2 Hz, 1H, C12H), 3.58 (dd, J = 2.8, 
14.2 Hz, 1H, C12H), 3.87 (t, J = 2.6 Hz, 1H, C15H), 3.98 (dd, J = 2.6 Hz, 10.6 Hz, 1H, C17H), 4.08 (dd, 



 S-7 

J = 2.6 Hz, 10.6 Hz, 1H, C17H), 4.20 (dd, J = 2.8 Hz, 11.0 Hz, 1H, C11H), 5.95 (s, 1H, N10H), 7.25 (dt, 
J = 0.9 Hz, 8.1 Hz, 1H, C6H), 7.33 (dt, J = 0.9, 8.1 Hz, 1H, C7H), 7.46 (s, 1H, C2H), 7.61 (app. d, J = 
8.1 Hz, 1H, C5H), 8.16 (app. d, J = 8.1 Hz, 1H, C8H). 
13C NMR (125 MHz, CDCl3, 50 °C) δ: –5.20 (SiCH3), –5.13 (SiCH3), 18.8 (SiC(CH3)3), 26.2 
(SiC(CH3)3), 28.3 ((CH3)3COCON), 32.5 (C18), 32.8 (C12), 55.7 (C11), 62.3 (C17), 64.4 (C15), 84.0 
((CH3)3COCON), 115.4 (C3), 115.7 (C8), 119.3 (C5), 123.0 (C6), 124.7 (C2), 125.1 (C7), 129.8 (C4), 
136.1 (C9), 149.5 ((CH3)3COCON), 165.8 (C16), 166.2 (C13). 
[α]D: +79 (c 1.7, CHCl3, 26 °C) 
FTIR (neat) cm-1: 3229 (br), 2931 (m), 2857 (m), 1732 (s), 1660 (s), 1158 (s), 1086 (s), 837 (s), 749 
(s). 
LRMS (ESI) (m/z): 524 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C26H39N3NaO5Si [M+Na]+: 524.25567, 
                found: 524.25358. 
 
(C-2) Bromocyclization of 9 to give tetracyclic bromide 10 

HN

N

O

O OTBS

Me

N
N

N

N

O

O

Me

H
OTBS

Br

Boc
Boc

NBS

MeCN
N

N

N

O

O

Me

H
OTBS

Br

Boc

Br

9 10 (88%) S-19 (6%)

+

H H

 
    To a solution of 9 (426 mg, 849 µmol) in acetonitrile (40 mM, 21 mL) was added 
N-bromosuccinimide (182 mg, 102 µmol) at –30 °C.  After stirring for 9.5 h at –30 °C, the reaction 
mixture was diluted with dichloromethane (50 mL), and then quenched with aqueous 5% sodium 
bicarbonate (16 mL).  The reaction mixture was warmed up to room temperature.  The organic 
layer was separated, and the aqueous layer was extracted with dichloromethane (50 mL).  The 
combined organic layers were washed with brine (20 mL), and then dried over anhydrous sodium 
sulfate.  After concentration in vacuo, purification by flash column chromatography (chloroform), 
followed by purification by MPLC (column: Yamazen Ultra Pack, hexane/ethyl acetate = 63/37) gave 
10 (211.8 mg, 88%, white amorphous form) and dibromide S-19 (35.2 mg, 6%, white amorphous 
form). 
Tetracyclic bromide 10:  
1H NMR (500 MHz, CDCl3, 24 °C) δ: 0.11 (s, 6H, Si(CH3)2), 0.90 (s, 9H, SiC(CH3)3), 1.57 (s, 9H, 
(CH3)3COCON), 2.83 (app. t, J = 11.9 Hz, 12.4 Hz, 1H, C12H), 2.91 (s, 3H, C18H3), 3.12 (dd, J = 4.1 
Hz, 11.9 Hz, 1H, C12H), 3.77 (dd, J = 4.1 Hz, 12.4 Hz, 1H, C11H), 3.92 (dd, J = 2.8 Hz, 10.1 Hz, 1H, 
C17H), 3.98 (app. s, 1H, C15H), 4.27 (dd, J = 1.0 Hz, 10.1 Hz, 1H, C17H), 6.83 (s, 1H, C2H), 7.09 (dt, 
J = 0.9 Hz, 7.8 Hz, 1H, C6H), 7.27 (dt, J = 0.9 Hz, 7.8 Hz, 1H, C7H), 7.40 (app. d, J = 7.8 Hz, 1H, 



 S-8 

C5H), 7.70 (br s, 1H, C8H). 
13C NMR (125 MHz, CDCl3, 26 °C) δ: –5.27 (SiCH3), –5.12 (SiCH3), 18.7 (SiC(CH3)3), 26.2 
(SiC(CH3)3), 28.4 ((CH3)3COCON), 31.7 (C18), 50.5 (C12), 58.4 (C11), 59.6 (C3), 61.4 (C17), 64.3 
(C15), 83.0 (CH3)3COCON), 84.0 (C2), 115.4 (C8), 124.2 (C6), 125.3 (C5), 130.9 (C7), 131.0 (C4), 
142.2 (C9), 151.6 ((CH3)3COCON), 163.9 (C16), 164.6 (C13). 
[α]D: +132 (c 1.0, CHCl3, 25 °C) 
FTIR (neat) cm-1: 2953 (m), 2931 (m), 2886 (m), 2857 (m), 1717 (s), 1689 (s), 1668 (s), 1374 (s), 
1152 (s), 754 (s). 
LRMS (ESI) (m/z): 602 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C26H38BrN3NaO5Si [M+Na]+: 602.16618, 
                found: 602.16369. 
 
 (C-3) Radical bromination and substitution with water 

N

N

N

O

O

Me

H
OTBS

Br

Boc

N

N

N

O

O

Me

H

Br
HO

Boc

OH OTBS

H2O

N

N

N

O

O

Me

OH OTBS

Boc

N

N

N

O

O

Me

H

Br

Boc

OH OTBS

N

N

N

O

O

Me

H

Br
Br

Boc

Br OTBS

11

12 (47%)
S-12a (7%)
S-12b (3%)
S-12c (2%)

S-20 (3%) S-21 (6%)

NBS, V-70

CCl4, rt

10

+ +

H

H

 
 
    To a solution of 10 (2.02 g, 3.48 mmol) and N-bromosuccinimide (1.26 g, 7.06 mmol) in 
carbontetrachloride (30 mM, 115 mL) was added V-70 
(2,2'-azobis(4-methoxy-2,4-dimethylvaleronitrile),3 255 mg, 0.83 mmol) at room temperature.  After 
stirring for 5 h at room temperature, the reaction mixture was filtered through cotton plug and the 
remaining solid was washed with carbontetrachloride.  After removal of the solvent in vacuo, crude 
tribromide 11 was obtained almost quantitatively. 
    The crude product 11 was dissolved in MeCN/10 mM pH 7.0 phosphate buffer = 1/1 (140 mL, 
25 mM) at room temperature.  After stirring for 3 h, the reaction mixture was diluted with ethyl 
acetate (3 x 100 mL).  The separated organic layer was washed with brine (100 mL) and then dried 
over anhydrous sodium sulfate.  After concentration in vacuo, purification by flash column 

                                                
3 Kita, Y.; Sano, A.; Yamaguchi, T.; Oka, M.; Gotanda, K.; Matsugi, M. Tetrahedron Lett. 1997, 38, 3549. 



 S-9 

chromatography (chloroform/ethyl acetate = 80/20) was carried out to give a mixture of two 
diastereomers 12, S-12a (12/S-12a = 87/13, 1.15 g, 54%, white solid).  Recovered unpurified 
mixture of more polar compounds was subjected to MPLC (column: Yamazen High Flash, 
hexane/ethyl acetate = 20/80 and KUSANO pre-packed SiO2 column, hexane/ethyl acetate = 50/50) to 
give other diastereomers S-12b (53.4 mg, 3%), S-12c (39.3 mg, 2%), and byproducts S-20 (64.4 mg, 
3%), S-21 (102 mg, 6%).  Being subjected to preparative chiral HPLC (Chiralpak IC (2 cm φ x 25 
cm), hexane/2-propanol = 95/5, 6 mL/min), stereoisomers 12 and S-12a could be separated.  The 
major compound 12 was obtained in 47% yield as a white solid, which was used in the following step.   
Tribromide 11: 1H NMR of the crude product is given in Section M. 
1H NMR (400 MHz, CDCl3, 23 °C) δ: 0.09 (s, 3H), 0.13 (s, 3H), 0.85 (9H, s), 1.62 (s, 9H), 3.21 (s, 
3H), 3.46 (d, J = 15.0 Hz, 1H), 3.83 (d, J = 15.0 Hz, 1H), 4.10 (d, J = 10.9 Hz, 1H), 4.65 (d, J = 10.9 
Hz, 1H), 6.74 (s, 1H), 7.19 (t, J = 7.7 Hz, 1H), 7.37 (t, J = 7.7 Hz, 1H), 7.49 (d, J = 7.7 Hz, 1H), 7.78 
(d, J = 7.7 Hz, 1H). 
Diol 12:  
1H NMR (500 MHz, CDCl3, 25 °C) δ: 0.13 (s, 3H, SiCH3), 0.14 (s, 3H, SiCH3), 0.90 (s, 9H, 
SiC(CH3)3), 1.60 (s, 9H, (CH3)3COCON), 3.00 (s, 3H, C18H3), 3.18 (d, J = 14.2 Hz, 1H, C12H), 3.43 
(d, J = 14.2 Hz, 1H, C12H), 3.82 (br s, 1H, OH), 4.09 (d, J = 11.0 Hz, 1H, C17H), 4.14 (d, J = 11.0 Hz, 
1H, C17H), 4.57 (br s, 1H, C15OH), 6.63 (s, 1H, C2H), 7.14 (t, J = 7.8 Hz, 1H, C6H), 7.31 (dt, J = 0.9 
Hz, 7.8 Hz, 1H, C7H), 7.44 (app. d, J = 7.8 Hz, 1H, C5H), 7.66 (d, J = 7.8 Hz, 1H, C8H). 
13C NMR (125 MHz, CDCl3, 25 °C) δ: –5.44 (SiCH3), –5.24 (SiCH3), 18.3 (SiC(CH3)3), 25.9 
(SiC(CH3)3), 27.9 (C18), 28.3 ((CH3)3COCON), 51.7 (C12), 58.3 (C3), 63.2 (C17), 83.1 
((CH3)3COCON), 85.4 (C15), 85.5 (C2), 87.6 (C11), 117.3 (C8), 124.1 (C5), 124.6 (C6), 130.5 (C7), 
134.3 (C4), 141.0 (C9), 152.1 ((CH3)3COCON), 163.7 (C16), 167.9 (C13). 
[α]D: +139 (c 1.0, CHCl3, 25 °C) 
FTIR (neat) cm-1: 3402 (br), 2954 (m), 2923 (m), 2883 (m), 2847 (m), 1710 (s), 1389 (s), 1155 (s), 
842 (s). 
LRMS (ESI) (m/z): 634 [M+Na]+ 

HRMS (ESI) (m/z): calcd. for C26H38BrN3NaO7Si [M+Na]+: 634.15601, 
                found: 634.15453. 
                 
Diol 12a:  
1H NMR (500 MHz, tetrahydrofuran-d8, 25 °C) δ: –0.27 (s, 3H, SiCH3), –0.11 (s, 3H, SiCH3), 0.59 (s, 
9H, SiC(CH3)3), 1.58 (s, 9H, (CH3)3COCON), 2.84 (s, 3H, C18H3), 3.10 (d, J = 15.1 Hz, 1H, C12H), 
3.56 (d, J = 10.1 Hz, 1H, C17H), 3.62 (d, J = 15.1 Hz, 1H, C12H), 4.08 (d, J = 10.1 Hz, 1H, C17H), 
5.74 (br s, 1H, C15OH), 6.47 (s, 1H, C2H), 6.52 (s, 1H, C11OH), 6.98 (dt, J = 0.9 Hz, 7.8 Hz, 1H, 
C7H), 7.16 (dt, J = 1.4 Hz, 7.8 Hz, 1H, C6H), 7.36 (dd, J = 0.9 Hz, 7.8 Hz, 1H, C5H), 7.62 (br s, 1H, 



 S-10 

C8H). 
13C NMR (125 MHz, tetrahydrofuran-d8, 25 °C) δ: –5.47 (SiCH3), –5.02 (SiCH3), 19.0 (SiC(CH3)3), 
26.4 (SiC(CH3)3), 27.2 (C18), 28.7 ((CH3)3COCON), 51.7 (C12), 60.0 (C3), 65.1 (C17), 82.7 
((CH3)3COCON), 86.6 (C2), 87.7 (C11), 87.7 (C15), 118.1 (C8), 125.1 (C7), 125.6 (C5), 131.1 (C6), 
136.0 (C4), 141.7 (C9), 152.3 ((CH3)3COCON), 166.4 (C16), 167.7 (C13). 
[α]D: +27 (c 1.3, CHCl3, 26 °C) 
FTIR (neat) cm-1: 3358 (br), 2953 (m), 2931 (m), 2883 (m), 2857 (m), 1710 (s), 1368 (s), 1156 (s), 
841 (s). 
LRMS (ESI) (m/z): 634 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C26H38BrN3NaO7Si [M+Na]+: 634.15601, 
                found: 634.15722. 
                 
Diol 12b:  
1H NMR (500 MHz, CDCl3, 25°C) δ: –0.11 (s, 3H, SiCH3), –0.06 (s, 3H, SiCH3), 0.75 (s, 9H, 
SiC(CH3)3), 1.62 (s, 9H, (CH3)3COCON), 2.98 (s, 3H, C18H3), 3.14 (dd, J = 2.3 Hz, 13.8 Hz, 1H, 
C12H), 3.49 (d, J = 13.8 Hz, 1H, C12H), 3.61 (d, J = 10.6 Hz, 1H, C17H), 3.76 (d, J = 10.6 Hz, 1H, 
C17H), 4.41 (d, J = 2.3 Hz, 1H, C11OH), 4.44 (s, 1H, C15OH), 6.76 (s, 1H, C2H), 7.13 (dt, J = 0.9 Hz, 
7.6 Hz, 1H, C6H), 7.26 (dt, J = 1.4 Hz, 7.6 Hz, 1H, C7H), 7.45 (dd, J = 1.4 Hz, 7.6 Hz, 1H, C5H), 
7.58 (br s, 1H, C8H). 
13C NMR (125 MHz, CDCl3, 25 °C) δ: –5.88 (SiCH3), –5.75 (SiCH3), 18.7 (SiC(CH3)3), 26.0 
(SiC(CH3)3), 27.0 (C18), 28.3 ((CH3)3COCON), 51.3 (C12), 58.3 (C3), 65.9 (C17), 82.9 
((CH3)3COCON), 84.7 (C15), 85.2 (C2), 88.0 (C11), 117.2 (C8), 124.3 (C5), 124.7 (C6), 130.1 (C7), 
134.6 (C4), 140.6 (C9), 151.8 ((CH3)3COCON), 164.9 (C13), 166.3 (C16). 
[α]D: +121 (c 1.2, CHCl3, 24 °C) 
FTIR (neat) cm-1: 3366 (br), 2953 (m), 2931 (m), 2884 (m), 2859 (m), 1719 (s), 1677 (s), 1389 (s), 
1156 (s), 838 (s). 
LRMS (ESI) (m/z): 634 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C26H38BrN3NaO7Si [M+Na]+: 634.15601, 
                found: 634.15445. 
                 
Diol 12c: 
1H NMR (500 MHz, CDCl3, 23 °C) δ: 0.16 (s, 6H, Si(CH3)2), 0.92 (s, 9H, SiC(CH3)3), 1.63 (s, 9H, 
(CH3)3COCON), 2.87 (s, 3H, C18H3), 3.32 (d, J = 15.1 Hz, 1H, C12H), 3.67 (d, J = 15.1 Hz, 1H, 
C12H), 3.70 (d, J = 10.6 Hz, 1H, C17H), 3.77 (d, J = 10.6 Hz, 1H, C17H), 4.04 (s, 1H, C15OH), 5.28 (s, 
1H, C11OH), 6.57 (s, 1H, C2H), 7.10 (t, J = 7.4 Hz, 1H, C6H), 7.28 (t, J = 7.4 Hz, 1H, C7H), 7.39 (d, J 
= 7.4 Hz, 1H, C5H), 7.64 (br s, 1H, C8H).  



 S-11 

13C NMR (125 MHz, CDCl3, 25 °C) δ: –5.49 (SiCH3), –5.46 (SiCH3), 18.8 (SiC(CH3)3), 26.0 
(SiC(CH3)3), 27.0 (C18), 28.4 ((CH3)3COCON), 49.9 (C12), 57.3 (C3), 65.7 (C17), 83.0 
((CH3)3COCON), 85.0 (C15), 85.5 (C2), 87.2 (C11), 116.8 (C8), 124.7 (C5), 124.7 (C6), 130.6 (C7), 
134.8 (C4), 139.8 (C9), 151.7 ((CH3)3COCON), 165.0 (C13), 166.6 (C16). 
[α]D: +21 (c 0.97, CHCl3, 25 °C) 
IR (neat) cm-1: 3344 (br), 2954 (m), 2932 (m), 2886 (m), 2859 (m), 1725 (s), 1687 (s), 1391 (s), 1158 
(s), 838 (s). 
LRMS (ESI) (m/z): 634 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C26H38BrN3NaO7Si [M+Na]+: 634.15601, 
                found: 634.15600. 
                 
S-20: 
1H NMR (500 MHz, CDCl3, 23 °C) δ: –0.14 (s, 3H, SiCH3), –0.04 (s, 3H, SiCH3), 0.60 (s, 9H, 
SiC(CH3)3), 1.68 (s, 9H, (CH3)3COCON), 3.11 (s, 3H, C18H3), 3.87 (d, J = 10.3 Hz, 1H, C17H), 4.09 
(d, J = 10.3 Hz, 1H, C17H), 5.61 (br s, 1 H, C15OH), 7.10 (s, 1H, C12H), 7.12-7.19 (m, 2H, C6H, C7H), 
7.34- 7.35 (m, 1H, C5H), 7.82 (d, J = 8.3 Hz, 1H, C8H). 
13C NMR (125 MHz, CDCl3, 25 °C) δ: –5.76 (SiCH3), –5.64 (SiCH3), 17.8 (SiC(CH3)3), 25.5 
(SiC(CH3)3), 26.6 (C18), 28.2 ((CH3)3COCON), 64.7 (C17), 85.3 ((CH3)3COCON), 87.5 (C15), 110.0 
(C12), 115.5 (C8), 115.6 (C2), 119.6 (C5), 121.3 (C4), 123.6 (C6), 124.9 (C7), 125.4 (C3), 134.4 (C11), 
140.2 (C9), 148.7 ((CH3)3COCON), 157.9 (C13), 163.5 (C16). 
[α]D: +1.2 (c 1.00, CHCl3. 24 °C) 
IR (neat) cm-1: 3260 (br, m), 2932 (m), 1741 (s) 
LRMS (ESI) (m/z): 536 [M+Na]+  
HRMS (ESI) (m/z): calcd. for C26H35N3NaO6Si [M+Na]+: 536.21928, 
                found: 536.21851. 
                 
S-21: 
1H NMR (500 MHz, CDCl3, 25 °C) δ: 0.13 (s, 6H, Si(CH3)2), 0.91 (s, 9H, SiC(CH3)3), 1.60 (s, 9H, 
(CH3)3COCON), 2.84 (t, J = 12.2 Hz, 1H, C12H), 2.96 (s, 3H, C18H3), 3.24 (dd, J = 4.8 Hz, 12.2 Hz, 
1H, C12H), 3.46 (br s, 1H, C15OH), 3.81 (d, J = 9.6 Hz, 1H, C17H), 3.91 (dd, J = 4.8 Hz, 12.2 Hz, 
C11H), 4.05 (d, J = 9.6 Hz, 1H, C17H), 6.73 (s, 1H, C2H), 7.13 (t, J = 7.4 Hz, 1H, C6H), 7.31 (dt, J = 
0.93 Hz, 7.4 Hz, 1H, C7H), 7.43 (app. d, J = 7.4 Hz, 1H, C5H), 7.67 (br s, 1H, C8H). 
13C NMR (125 MHz, CDCl3, 25 °C) δ: –5.31 (SiCH3), –5.19 (SiCH3), 18.5 (SiC(CH3)3), 26.0 
(SiC(CH3)3), 27.2 (C18), 28.3 ((CH3)3COCON, 49.0 (C12), 58.3 (C11), 58.9 (C3), 64.7 (C17), 83.2 
((CH3)3COCON), 84.3 (C2), 85.9 (C15), 116.0 (C8), 124.5 (C6), 124.9 (C5), 131.0 (C7), 131.1 (C4), 
142.1 (C9), 151.6 ((CH3)3COCON), 164.6 (C16), 165.1 (C13). 



 S-12 

[α]D: +132 (c 0.95, CHCl3, 26 °C) 
FTIR (neat) cm-1: 3365 (br), 2949 (m), 2931 (m), 2883 (m), 2857 (m), 1711 (s), 1374 (s), 1153 (s), 
842 (s). 
LRMS (ESI) (m/z): 618 [M+Na]+  
HRMS (ESI) (m/z): calcd. for C26H38BrN3NaO6Si [M+Na]+: 618.16109, 
                found: 618.15806. 
                 

(C-4) Radical dimerization reaction to give 13. 

CoCl(PPh3)3

acetone

N

N

N

O

O
H

N

N

N

O

O
H

Me
Me

HO
OH

OH

HO

Boc

Boc

TBSO

OTBS

N

N

N

O

O

Me

H

Br
HO

Boc

OH OTBS

13 (55%)

N

N

N

O

O

Me

H

H
HO

Boc

OH
OTBS

S-22 (3%)

+

12

Stereochemistry at the !-position is tentatively assigned.  
    Freshly prepared tris(triphenylphosphine)cobalt chloride (CoCl(PPh3)3, 509 mg, 578 µmol)4  
was added as a solid quickly to a degassed (nitrogen babbling for 10 min) solution of 12 (182 mg, 300 
µmol) in dry acetone (3.0 mL) at room temperature under nitrogen atmosphere.  After 90 min, the 
reaction mixture was diluted with dichloromethane (10 mL) and quenched with saturated aqueous 
ammonium chloride (10 mL).  The organic layer was separated and the aqueous layer was extracted 
with dichloromethane (3 x 10 mL).  The combined organic layers were washed with brine (10 mL) 
and then dried over anhydrous sodium sulfate.  After removal of the solvent in vacuo, purification by 
flash column chromatography (chloroform/ethyl acetate = 80/20 to 70/30) gave the crude product of 
13 and S-22 (2.4 mg, 3%).  The obtained crude compound was subjected to purification with MPLC 
system (column: High Flash M, hexane/ethyl acetate = 70/30 to 50/50) to give pure 13 (86.6 mg, 
55%) as white solid. 
 

                                                
4 (a) Baysdon, S. L.; Liebeskind, L. S. Organometallics 1982, 1, 771. 

(b) Yamada, Y. ;Momose, D. Chem. Lett. 1981, 1277. 

(c) Movassaghi, M.; Schmidt, M. A. Angew. Chem. Int. Ed. 2007, 46, 3725. 

(d) Schmidt, M. A.; Movassaghi, M. Synlett 2008, 313. 

(e) Movassaghi, M.; Schmidt, M. A.; Ashenhurst, J. A. Angew. Chem. Int. Ed. 2008, 47, 1485. 

(f) Kim, J.; Ashenhurst, J. A.; Movassaghi, M. Science 2009, 324, 238. 

(g) Pérez-Balado, C.; Rodríguez-Grana, P.; de Lera, Á. R. Chem. Eur. J. 2009, 28, 9928. 

(h) Pérez-Balado, C.; de Lera, Á. R. Org. Lett. 2008, 10, 3701-3704. 



 S-13 

Dimeric tetraol 13: 
1H NMR (400 MHz, CDCl3, 55 °C) δ: 0.17 (s, 6H, SiCH3), 0.18 (s, 6H, SiCH3), 0.94 (s, 18H, 
SiC(CH3)3), 1.66 (s, 18H, (CH3)3COCON), 2.83 (d, J = 14.1 Hz, 2H, C12H), 2.91 (d, J = 14.1 Hz, 2H, 
C12H), 3.08 (s, 6H, C18H3), 3.37 (s, 2H, C11OH), 4.15 (d, J = 11.0 Hz, 2H, C17H), 4.22 (d, J = 11.0 Hz, 
2H, C17H), 4.28 (s, 2H, C15OH), 6.89 (dt, J = 1.0 Hz, 7.4 Hz, 2H, C6H), 7.10 (app. dt, J = 1.1 Hz, 7.4 
Hz, 2H, C7H), 7.26 (app. d, J = 7.4 Hz, 2H, C5H), 7.51 (app. d, J = 7.4 Hz 2H, C8H),  
13C NMR (125 MHz, CDCl3, 25 °C) δ: –5.57 (SiCH3), –5.14 (SiCH3), 18.4 (SiC(CH3)3), 25.9 
(SiC(CH3)3), 27.9 (C18), 28.1 ((CH3)3COCON), 42.6 (C12), 56.7 (C3), 62.5 (C17), 79.7 (C15), 82.7 
((CH3)3COCON), 85.4 (C2), 86.8 (C11), 117.0 (C8), 122.4 (C5), 123.3 (C6), 129.7 (C7), 131.6 (C4), 
141.7 (C9), 151.2 ((CH3)3COCON), 163.1 (C13), 169.1 (C16). 
[α]D: +182 (c 1.0, CHCl3, 24 °C) 
IR (neat) cm-1 = 3367 (br), 2954 (m), 2932 (m), 2890 (m), 2858 (m), 1717 (s), 1390 (s), 1367 (s), 
1157 (s), 841 (s). 
LRMS (ESI) (m/z): 1087 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C52H76N6NaO14Si2 [M+Na]+: 1087.48557, 
                found: 1087.48134. 
                 
Reduced byproduct S-22: 
1H NMR (500 MHz, CDCl3, 23 °C) δ: 0.06 (s, 3H, SiCH3), 0.09 (s, 3H, SiCH3), 0.85 (s, 9H, 
SiC(CH3)3), 1.56 (s, 9H, (CH3)3COCON), 2.47 (dd, J = 8.7 Hz, 13.8 Hz, 1H, C12H), 2.67 (d, J = 13.8 
Hz, 1H, C12H), 2.94 (s, 3H, C18H3), 3.84 (d, J = 10.4 Hz, 1H, C17H), 3.99 (app. t, J = 7.8 Hz, 1H, 
C3H), 4.09 (s, 1H, C11OH), 4.23 (d, J = 10.4 Hz, 1H, C17H), 5.00 (s, 1H, C15OH), 6.60 (d, J = 7.8 Hz, 
1H, C2H), 7.01 (t, J = 7.8 Hz, 1H, C6H), 7.18 (d, J = 7.8 Hz, 1H, C5H), 7.21 (t, J = 7.8 Hz, 1H, C7H), 
7.68 (d, J = 7.8 Hz, 1H, C8H). 
13C NMR (125 MHz, CDCl3, 25 °C) δ: –5.50 (SiCH3), –5.27 (SiCH3), 18.3 (SiC(CH3)3), 25.9 
(SiC(CH3)3), 27.7 (C18), 28.3 ((CH3)3COCON), 41.6 (C3), 42.3 (C12), 63.5 (C17), 77.5 (C2), 82.3 
((CH3)3COCON), 86.0 (C15), 87.6 (C11), 116.6 (C8), 123.6 (C6), 123.8 (C5), 128.3 (C7), 132.9 (C4), 
142.2 (C9), 152.4 ((CH3)3COCON), 163.9 (C16), 168.5 (C13). 
 [α]D: +99 (c 0.59, CHCl3, 25 °C) 
IR (neat) cm-1 = 3256 (br), 2953 (m), 2931 (m), 2883 (m), 2857 (m), 1710 (s), 1391 (s), 1156 (s), 839 
(s). 
LRMS (ESI) (m/z): 556 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C26H39N3NaO7Si [M+Na]+: 556.24550, 
                found: 556.24623. 
                
 



 S-14 

(C-5) Substitution reaction with H2S.  

I2

N

N

N

O

O
H

N

N

N
O

H

Me
Me

HO
OH

OH

HOTBSO

OTBS

Boc

Boc

O

N

N

H
N

O

O
H

N

N

N
H

O

O
H

Me
Me

OH

OH

S2

S2

reaction 
in sealed 
glass tube

BF3 • OEt2
H2S

(excess)

CH2Cl2
–78 °C ~ rt

N

N

H
N

O

O
H

N

N

N
H O

H

Me
Me

HS
SH

SH

HSHO

OH

O

13

(+)-Chaetocin (1)

44%
(2 steps)

 

    Hydrogen sulfide (bp –60 ºC, ca.1 mL) was condensed at –78 ºC in a sealed-tube capped with a 
rubber septam.  A solution of 13 (20.0 mg, 18.8 µmol) in dichloromethane (0.76 mL) and boron 
trifluoride diethyl ether complex (23 µL, 186 µmol) were added to the liquid hydrogen sulfide.  Then 
rubber septum was replaced with a sealed-tube stopper, and the resulting mixture was allowed to 
warm up to room temperature.  The reaction apparatus was placed behind a blast shield in a fume 
hood.  After stirring for 90 min at room temperature, the reaction mixture was cooled to –78 ºC 
again, and the sealed-tube stopper was replaced by a rubber septum having a needle connected to two 
traps linearly, which are filled with 20% aqueous sodium hydroxide.  The cooling bath was removed, 
and the solution was warmed up to room temperature.  After purging with nitrogen gas, the reaction 
mixture was diluted with ethyl acetate (3 mL) and washed with saturated aqueous ammonium chloride 
(2 mL).  The separated aqueous layer was extracted with ethyl acetate (3 x 2 mL).  To the 
combined organic layers was added a solution of 2 equivalents of I2 in ethyl acetate (50 mM, 0.73 
mL) at room temperature.  The organic solution turned red immediately.  After strirring for 1 min, 
10% aqueous sodium thiosulfate solution was added for quenching.  Separated aqueous phase was 
further extracted with ethyl acetate (3 x 3 mL) and combined all organic phase was dried over 
anhydrous sodium sulfate.  After concentration in vacuo, purification by preparative-TLC (Merck 
HPTLC Diol F254s, 0.25 mm x 10 cm x 10 cm, EtOAc) gave (+)-chaetocin (1) (5.8 mg, 44%) as a 
white solid. 
(+)-Chaetocin (1):  
1H NMR (500 MHz, CDCl3, 24 °C) δ: 2.74 (d, J = 15.1 Hz, 2H, C12H), 3.08 (s, 6H, C18H3), 3.29 (dd, 
J = 6.0 Hz, 9.2 Hz, 2H, C17OH), 3.84 (d, J = 15.1 Hz, 2H, C12H), 4.18 (dd, J = 9.2 Hz, 12.8 Hz, 2H, 
C17H), 4.25 (dd, J = 6.0 Hz, 12.8 Hz, 2H, C17H), 5.25 (s, 2H, C2H), 5.25 (s, 2H, NH), 6.74 (app. d, J 



 S-15 

= 7.5 Hz, 2H, C5H), 6.92 (dt, J = 0.9 Hz, 7.5 Hz, 2H, C6H), 7.25 (dt, J = 1.4 Hz, 7.5 Hz, 2H, C7H), 
7.42 (app. d, J = 7.5 Hz, 2H, C8H). 
13C NMR (125 MHz, CDCl3) δ: 27.5 (C18), 39.4 (C12), 60.0 (C3), 60.7 (C17), 73.5 (C11), 76.0 (C15), 
80.7 (C2), 110.9 (C5), 120.5 (C6), 125.4 (C8), 127.6 (C4), 130.6 (C7), 149.3 (C9), 163.0 (C16), 165.8 
(C13). 
[α]D: +537 (c 0.20, CHCl3, 26 °C) 
IR (neat) cm-1 = 3374 (br), 2928 (m), 1677 (s), 751 (s). 
HRMS (ESI) (m/z): calcd. for C30H28N6NaO6S4 [M+Na]+: 719.08508, 
                found: 719.08494. 
 
(+)-Chaetocin (1, from Chaetomium minutum):  
1H NMR (500 MHz, CDCl3, 24 °C) δ: 2.74 (d, J = 15.2 Hz, 2H, C12H), 3.08 (s, 6H, C18H3), 3.26 (dd, 
J = 6.0 Hz, 9.6 Hz, 2H, C17OH), 3.84 (d, J = 15.1 Hz, 2H, C12H), 4.18 (dd, J = 9.6 Hz, 12.8 Hz, 2H, 
C17H), 4.25 (dd, J = 6.0 Hz, 12.8 Hz, 2H, C17H), 5.23 (s, 2H, NH), 5.25 (s, 2H, C2H), 6.74 (app. d, J 
= 7.8 Hz, 2H, C5H), 6.92 (t, J = 7.8 Hz, 2H, C6H), 7.25 (t, J = 7.8 Hz, 2H, C7H), 7.42 (app. d, J = 7.8 
Hz, 2H, C8H). 
[α]D: +530 (c 0.04, CHCl3, 26 °C) 
 
(D) Conversion and structural determination of tetracyclic DKP 10. 
 (D-1) Conversion of 10 
    For the determination of the relative stereochemistry of the tetracyclic DKP, the antipode of 10 
was converted to S-24 for the X-ray analysis.  This revealed that the bromine atom of 10 is 
positioned trans to the α-protons of the DKP ring. 

N

N

N

O

O

Me

H
OTBS

Br

Boc

H Bu3SnH
AIBN

toluene
reflux

91%

N

N

N

O

O

Me

H
OTBS

H

Boc

H

ent-S-23ent-10

N

N

N

O

O

Me

H
OH

H

Boc

TBAF
AcOH

THF, rt

quant.

H

ent-S-24  

    A solution of ent-10 (332 mg, 570 µmol), tri-n-butyltin hydride (180 µL, 690 µmol), and 
2,2’-azobisisobutyronitrile (11.5 mg, 69 µmol) in toluene (5.8 mL) was heated to reflux for 3.5 h 
under nitrogen atmosphere.  The reaction mixture was concentrated in vacuo.  The resulting residue 
was purified by flash column chromatography (chloroform) to give reduced ent-S-23 (261 mg, 91%) 
as a white solid. 
    To a solution of ent-S-23 (198 mg, 0.39 mmol) in dry tetrahydrofuran (10 mM, 4 mL) were 
added acetic acid (60 µL, 1.0 mmol) and tetrabutylammonium fluoride (1M tetrahydrofuran solution, 
800 µL, 0.8 mmol) at 0 °C.  After stirring for 4 h at room temperature under nitrogen atmosphere, 



 S-16 

the reaction mixture was concentrated in vacuo.  The obtained residue was purification by column 
chromatography (chloroform/methanol = 100/0 to 98/2) to give ent-S-24 (180 mg, quant.) as a white 
solid.  Recrystallization from hexane-ethyl acetate afforded a crystal suitable for an X-ray structural 
analysis.  
ent-S-23: 
1H NMR (500 MHz, CDCl3, 25 °C) δ: 0.07 (s, 3H, SiCH3), 0.09 (s, 3H, SiCH3), 0.89 (9H, s, 
SiC(CH3)3), 1.58 (s, 9H, (CH3)3COCON), 2.26 (ddd, J = 8.3 Hz, 11.8 Hz, 11.8 Hz, 1H, C12H), 2.45 
(dd, J = 4.8 Hz, 11.8 Hz, 1H, C12H), 2.94 (s, 3H, C18H3), 3.89-3.95 (m, 3H, C3H, C11H, C17H), 3.98 
(app. s, 1H, C15H), 4.26 (dd, J = 1.4 Hz, 10.1 Hz, 1H, C17H), 6.77 (d, J = 7.8 Hz, 1H, C2H), 7.02 (t, J 
= 7.5 Hz, 1H, C6H), 7.19 (d, J = 7.5 Hz, 1H, C5H), 7.22 (t, J = 7.5 Hz, 1H, C7H), 7.71 (br s, 1H, 
C8H). 
13C NMR (125 MHz, CDCl3, 25 °C) δ: –5.24 (Si(CH3)2), –5.21 (Si(CH3)2), 18.7 (SiC(CH3)3), 26.1 
(SiC(CH3)3), 28.6 ((CH3)3COCON), 31.8 (C18), 39.8 (C12), 42.7 (C3), 57.1 (C11), 61.6 (C17), 64.6 
(C15), 75.5 (C2), 82.3 ((CH3)3COCON), 115.1 (C8), 123.5 (C6), 125.0 (C5), 128.7 (C7), 130.3 (C4), 
143.3 (C9), 152.2 ((CH3)3COCON), 163.8 (C16), 166.2 (C13). 
[α]D: –95 (c 0.35, CHCl3, 25 °C) 
FTIR (neat) cm-1: 2949 (m), 2930 (m), 2857 (m), 1711 (s), 1678 (s), 1382 (s), 1149 (s), 836 (s). 
LRMS (ESI) (m/z): 524 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C26H39N3NaO5Si [M+Na]+: 524.25567, 
                found: 524.25414. 
 
ent-S-24: 
1H NMR (500 MHz, CDCl3, 24 °C) δ: 1.58 (s, 9H, (CH3)3COCON), 2.30 (ddd, J = 8.1, 11.9, 11.9 Hz, 
1H, C12H), 2.52 (dd, J = 5.1, 11.9 Hz, 1H, C12H), 2.57 (br s, 1H, OH), 3.00 (s, 3H, C18H3), 3.88-3.94 
(m, 2H, C11H and C17H), 4.00-4.03 (m, 2H, C3H and C15H), 4.23 (ddd, J = 2.3, 6.9, 11.0 Hz, 1H, 
C17H), 6.76 (d, J = 7.8 Hz, 1H, C2H), 7.03 (t, J = 7.4 Hz, 1H, C6H), 7.20 (d, J = 7.4 Hz, 1H, C7H), 
7.22 (t, J = 7.4 Hz, 1H, C5H), 7.68 (br s, 1H, C8H). 
13C NMR (125 MHz, CDCl3, 25 °C) δ: 28.5 ((CH3)3COCON), 31.8 (C18), 39.1 (C12), 42.8 (C3), 57.2 
(C11), 60.3 (C17), 64.0 (C15), 75.5 (C2), 82.4 ((CH3)3COCON), 115.2 (C8), 123.5 (C6), 124.8 (C5), 
128.7 (C7), 130.3 (C4), 143.1 (C9), 152.1 ((CH3)3COCON), 164.4 (C16), 166.8 (C13). 
[α]D: –125 (c 0.12, CHCl3, 26 °C) 
FTIR (neat) cm-1: 3408 (br), 2977 (m), 2927 (m), 1710 (s), 1659 (s), 1381 (s), 1149 (s), 753 (s). 
LRMS (ESI)(m/z): 410 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C20H25N3NaO5 [M+Na]+: 410.16919, 
                found: 410.17098. 
 



 S-17 

 (D-2) X-ray crystal structure analysis of ent-S-24 
    CCDC-764669 contains the supplementary crystallographic data for ent-S-24.  These data can 
be obtained free of charge from The Cambridge Crystallographic Data Centre via 
www.ccdc.cam.ac.uk/data_request/cif.  

N
N

N

O

O

Me

H OH

H

Boc

H

S-24

 
Figure S-1. Molecular structure of S-24. 

 
(E) Total synthesis of ent-chaetocin 
    According to the synthetic procedures for (+)-chaetocin (1), its antipode was successfully 
synthesized starting from L-serine and L-tryptophan.  Optical rotations of each compound are listed 
below. 
ent-9: [α]D: –78 (c 1.0, CHCl3, 25 °C) 
ent-10: [α]D: –112 (c 1.0, CHCl3, 25 °C) 
ent-12: [α]D: –134 (c 1.0, CHCl3, 26 °C) 
ent-13: [α]D: –217 (c 1.0, CHCl3, 25 °C) 
ent-1: [α]D: –554 (c 0.20, CHCl3, 24 °C) 
 



 S-18 

(F) Synthesis of S-deficient analogs 
 (F-1) Synthesis of S-deficient analog of 1 (14). 

CoCl(PPh3)3

acetone

rt, 3 h

N

NMe

N

O

O
H

OTBS

Br

Boc

N

MeN

N

O

O
H

N

NMe

N

O

O
H

TBSO

OTBS

Boc

Boc

10
S-25 (47%)

N

NMe

N

O

O
H

OTBS

H

Boc

S-23 (10%)

+

S-25

BF3•OEt2

CH2Cl2

82%

N

MeN

H
N

O

O
H

N

NMe

N
H

O

O
H

HO

OH

S-deficient 1 (14)

H

H

H

H
H

H

H

H

H

H
H

H

 
    To a solution of 10 (377 mg, 650 µmol) in dry acetone saturated with nitrogen was added 
CoCl(PPh3)3 (1.14 g, 1.29 mmol) at room temperature under nitrogen atmosphere.  After stirring for 
3 h at room temperature, water (20 mL) was added for quenching.  The organic solvent was removed 
in vacuo.  The obtained suspension was extracted with dichloromethane (3 x 30 mL).  The 
combined organic layers were washed with water (50 mL) and brine (30 mL), and then dried over 
anhydrous sodium sulfate.  After concentration in vacuo, purification by flash column 
chromatography (hexane/ethyl acetate = 70/30) and GPC was carried out to give S-25 (152 mg, 47%, 
white amorphous form) and reduced byproduct S-23 (31.2 mg, 10%, white amorphous form.). 
S-25:  
1H NMR (500 MHz, CDCl3, 60 °C) δ: 0.10 (s, 6H, SiCH3), 0.12 (s, 6H, SiCH3), 0.91 (18H, s, 
SiC(CH3)3), 1.61 (s, 18H, (CH3)3COCON), 2.39 (t, J = 11.9 Hz, 2H, C12H), 2.81 (dd, J = 4.9, 11.9 Hz, 
2H, C12H), 2.97 (s, 6H, C18H3), 3.82 (dd, J = 4.9 Hz, 11.9 Hz, 2H, C11H), 3.86 (app. br s, 2H, C15H), 
4.08 (dd, J = 2.5 Hz, 11.0 Hz, 2H, C17H), 4.28 (dd, J = 2.8 Hz, 11.0 Hz, 2H, C17H), 6.47 (s, 2H, C2H), 
6.83 (t, J = 7.4 Hz, 2H, C6H), 7.05 (t, J = 7.4 Hz, 2H, C7H), 7.23 (d, J = 7.4 Hz, 2H, C5H), 7.48 (d, J 
= 7.4 Hz, 2H, C8H). 
13C NMR (125 MHz, CDCl3, 60 °C) δ: –5.24 (SiCH3), –5.00 (SiCH3), 18.6 (SiC(CH3)3), 26.2 
(SiC(CH3)3), 28.5 ((CH3)3COCON), 31.1(C18), 38.8 (C12), 58.4(C11), 58.7(C3), 61.7(C17), 63.8(C15), 
78.5 (C2), 82.5 ((CH3)3COCON), 116.1 (C8), 122.7 (C5), 123.4 (C6), 129.8 (C7), 130.1 (C4), 143.4 
(C9), 151.4 ((CH3)3COCON), 162.6 (C16), 166.2 (C13).   

[α]D: +213 (c 1.8, CHCl3, 25 °C) 

FTIR (neat) cm-1: 2953 (m), 2931 (m), 2887 (m), 2857 (m), 1715 (s), 1678 (m), 1155 (s), 752 (s). 
LRMS (ESI) (m/z): 1023 [M+Na]+  



 S-19 

HRMS (ESI) (m/z): calcd. for C52H76N6NaO10Si2 [M+Na]+: 1023.50591, 
                found: 1023.50647. 
S-23: [α]D: +96 (c 1.3, CHCl3, 26 °C) 
 
    To a solution of S-25 (30.0 mg, 0.30 mmol) in dry dichloromethane (20 mM, 1.5 mL) was added 
boron trifluoride diethyl ether complex (32 µL, 0.240 mmol) at 0 °C under nitrogen atmosphere.  
After stirring for 2 h at room temperature, the reaction mixture was quenched with saturated aqueous 
ammonium chloride (1.5 mL), and the separated aqueous layer was extracted with ethyl acetate (4 x 3 
mL).  The combined organic layers were dried over sodium sulfate.  After concentration in vacuo, 
purification by flash column chromatography (chloroform/methanol = 90/10) afforded 14 (14.1 mg, 
82%) as white solid. 
S-deficient analog 14:  
1H NMR (500 MHz, CDCl3, 25 °C) δ: 2.43-2.52 (m, 4H, C12H), 2.99 (s, 6H, C18H3), 3.94-3.96 (m, 
4H, C15H and C17H), 4.05 (dd, J = 6.4 Hz, 11.5 Hz, 2H, C11H), 4.24-4.30 (m, 4H, C17H and OH), 
4.92 (s, 2H, NH), 5.73 (s, 2H, C2H), 6.61 (app. d, J = 7.6 Hz, 2H, C5H), 6.82 (t, J = 7.6 Hz, 2H, C6H), 
7.13 (dt, J = 0.9 Hz, 7.6 Hz, 2H, C7H), 7.31 (d, J = 7.6 Hz, 2H, C8H). 
13C NMR (125 MHz, CDCl3, 25 °C) δ: 31.6 (C18), 39.1 (C12), 58.2 (C11), 60.0 (C17), 61.1 (C3), 64.2 
(C15), 78.7 (C2), 109.8 (C5), 119.2 (C6), 126.0 (C8), 127.1 (C4), 129.8 (C7), 150.8 (C9), 164.4 (C16), 
166.3 (C13). 

[α]D: +217 (c 1.0, CHCl3, 25 °C) 

FTIR (neat) cm-1: 3342 (br), 2997 (m), 2948 (m), 2887 (m), 1642 (s), 1465 (m), 748 (s). 
LRMS (ESI) (m/z): 595 [M+Na]+ 
HRMS (ESI) (m/z): calcd. for C30H32N6NaO6 [M+Na]+: 595.22810, 
                found: 595.22761. 
                 
 (F-2) Synthesis of S-deficient analog of ent-1 (ent-14). 
    Ent-14 was synthesized according to the same protocol for the synthesis of 14.  Optical 
rotations of each intermediate are provided below. 
ent-25: –210 (c 1.0, CHCl3, 26 °C) 
ent-14: –239 (c 0.51, CHCl3, 24 °C) 
 
(G) HMT G9a–inhibitory activity assay 
    G9a inhibition assay of the synthesized compounds was carried out according to a reported 
ELISA method.5   
                                                
5 Kubicek, S.; O’Sullivan, R. J.; August, E. M.; Hickey, E. R.; Zhang, Q.; Teodoro, M. L.; Rea, S.; Mechtler, 



 S-20 

 Inhibition assay 
    A mixture of 1 µL of GST-G9a (200 ng), 1 µL of BSA (150 ng), 25 µL of 2xHMT activity 
buffer (100 mM Tris-HCl (pH 8.5), 20 mM MgCl2, 40 mM KCl, 20 mM 2-mercaptoethanol, 500 mM 
sucrose), 1 µL of a DMSO solution of a compound of interest, and 20 µL of H2O was incubated at 
room temperature for 1 h in a total volume of 48 µL/well.  After the addition of 1 µL of 
S-adenosylmethionine (SAM) (50 ng) and 1 µL of biotinylated H3 peptide (50 ng) into this reaction 
mixture, the resulting mixture was further incubated at 37 °C for 2 h and boiled at 96 °C for 30 min.   
The supernatant of the mixture was transferred to a streptavidin-coated plate and incubated at room 
temperature for 1 h.  The supernatant was removed, and the remaining plate was washed with 300 
µL of PBS containing 0.5% Tween20 (PBST) 3 times.  Then, the plate was treated with 14.6 ng/mL 
of an anti-methylated-lysine antibody MEK3D76 in PBST.  After incubation at room temperature 
for 1h, the supernatant was removed, and the remaining plate was washed with 300 µL of PBST 3 
times.  Subsequently, the secondary antibody conjugated with mouse HRP in PBST (100 µL/well) 
was added to the plate, and the resulting mixture was incubated at room temperature for 1 h.  After 
the removal of the supernatant, the plate was washed with 300 µL of PBST 5 times.  A substrate of 
TMB peroxidase (3,3’,5,5’-tetramethylbenzidine) was added to the plate and the reaction was run at 
room temperature for 30 min.  Finally, the inhibitory activity was evaluated by measuring the 
absorption of each well at 650 nm using a plate reader. 
    In the case of the compounds 14 and ent-14, no inhibition was observed even at the 
concentration of 50 µM. 
 
 
 
 
 
 
 
 
 
 
 
 
 

                                                                                                                                                                 
K.; Kowalski, J. A.; Homon, C. A.; Kelly, T. A.; Jenuwein, T. Molecular Cell 2007, 25, 473. 
6 Iwabata, H.; Yoshida, M.; Komatsu, Y. Proteomics, 2005, 18, 4653. 



 S-21 

Table. IC50 values for G9a inhibitory activity 

 
 Results and comments: 
    As shown above, synthetic (+)-chaetocin showed inhibitory activity comparable to that of natural 
(+)-chaetocin, confirming that (+)-chaetocin is directly involved in the inhibition of histone 
methyltransferase (HMT) G9a.  The IC50 value observed in our study was in good accord with the 
value determined by a standard radioactive filter-binding assay.7  Surprisingly, ent-chaetocin also 
inhibited G9a equally effectively, indicating that HMT G9a does not strictly recognize the absolute 
stereochemistry of the inhibitor, and that the binding site of chaetocin is flexible.   
    On the other hand, we also tested sulfur atom-deficient analogs 14 and ent-14.  The spatial 
arrangement of all substituents of these compounds, other than the disulfide bonds, matches well with 
that of the parent compounds.  Therefore, biological assay of 14 and ent-14 should allow for direct 
evaluation of the influence of the sulfur functionality within chaetocin.  Interestingly, these 
compounds were completely inactive, indicating that either disulfide bond or reduced dithiol moiety 
participates in the inhibition of G9a.  These results are not surprising, because disulfide bonds have 
been proposed to play critical roles in interfering with the physiological events.  In the previous 
paper7, Imhof and coworkers reported that the addition of a large excess of DTT to reduce the 
disulfide bond within chaetocin did not lead to a significant decrease in its activity towards 
SU(VAR)3-9. They speculated that chaetocin simply binds to a SAM-binding cleft, based on their 
observation that chaetocin acts as a competitive inhibitor for S-adenosylmethionine (SAM), and they 
did not considered possible interaction of sulfur groups with histone methyltransferases.  Although 
their conclusion seems reasonable, our assay results, including the effect of the absolute 
stereochemistry and, most importantly, the inactivity of the sulfur-deficient analogs, imply a more 
complicated scenario of how chaetocin interaction with HMT G9a and SU(VAR)3-9.  In case that 
the disulfide bonds are reduced by the addition of DTT as discussed in Imhof’s paper, our present 
results suggest that the reduced dithiol moiety may be involved in the interaction with the enzyme.  
Further investigation to clarify the molecular mechanism is under way in our laboratory. 
 

                                                
7 Greiner, D.; Bonaldi, T.; Eskeland, R.; Roemer, E.; Imhof, A. Nat. Chem. Biol. 2005, 1, 143. 



 S-22 

(H) Additional note-1: Dimerization of 10 and α-oxidation of the obtained octacyclic ring 
system 

AIBN, NBS
CCl4, reflux

or V-70, NBS
CCl4, rt

decomposition

N

MeN

N

O

O
H

N

NMe

N

O

O
H

TBSO

OTBS

N

NMe

N

O

O
H

OTBS

Br

Boc

Boc

Boc

CoCl(PPh3)3

acetone, rt
47%

S-2510

N

MeN

N

O

O
H

N

NMe

N

O

O
H

Boc

Boc

t-BuOLi (2.2 eq)

THF, -40 °C
63%

S-26

LDA,
LiHMDS, KHMDS

decomposition

H

H

 
    Based on classical enolate strategy to introduce a sulfur functionality, which was originally 
applied to DKPs by Schmidt et al.8, we first examined reactions of the tetracyclic compound S-25 
with various bases to form the corresponding di- or tetra anions.  All attempts with commonly-used 
strong bases, including LDA, LiHMDS, and KHMDS, were unsuccessful, and only decomposition of 
S-25 was observed even at -78 °C regardless of the presence or absence of electrophilc sulfur 
compounds.  Although the reaction with t-BuOLi was clean, β-elimination of the TBS-oxy group 
readily occurred to give exo-methylene compound S-26 in 63% yield.  
    Next, we examined α-bromination reaction under radical conditions.  Such reactions of 
diketopiperazines (DKPs) with molecular bromine or NBS are known to be useful to selectively 
brominate the α-position of DKPs.9  In the preceding examples, however, non-substituted DKPs 
derived from glycine or sarcosine alone were employed for the radical bromination reaction.  
Nevertheless, we tried the reaction of S-25 using NBS.  Unfortunately, reaction of dimeric 
compound S-25 either at reflux or at ambient temperature gave a complex mixture, resulting in 
complete decomposition of the dimeric core structure.   
    Based on these experimental results, it was concluded that the dimeric core structure is highly 
unstable under radical conditions.  Therefore, we abandoned the late stage oxidation of the dimeric 
core framework and instead planned the early stage radical bromination of the tetracyclic compound 

                                                
8 (a) Öhler, E.; Poisel, H.; Tataruch, F.; Schmidt, U. Chem. Ber. 1972, 104, 1714. 

(b) Öhler, E.; Poisel, H.; Tataruch, F.; Schmidt, U. Chem. Ber. 1972, 105, 635. 

(c) Hino, T.; Sato, T. Tetrahedron Lett. 1971, 12, 3127. 
9 (a) Trown, P. W. Biochem. Biophys. Res. Commun. 1968, 33, 402. 

(b) Kishi,Y.; Nakatsuka, S.; Fukuyama, T.; Havel, M. J. Am. Chem. Soc. 1973, 95, 6493. 

(c) Fukuyama, T.; Nakatsuka, S.; Kishi, Y. Tetrahedron 1981, 37, 2045-2078. 



 S-23 

10 as discussed in the main text.  See also Additional note 4 below. 
 
(I) Additional note-2: Details of the synthesis of DKP 9. 

HN

NMe

O

O

OTBS
N
H

(Boc)2O
DAMP

MeCN, -10 °C
HN

NMe

O

O

OTBS
N
Boc

N

NMe

O

O

OTBS
N
Boc

Boc

9 (32%) S-28 (22%)

+

S-27  

    Although N-Boc-protected compound 9 was accessible from DKP S-27, the chemical yield was 
not satisfactory. This is because di-Boc-protected compound S-28 was also formed significantly.  In 
contrast to acyclic dipeptide S-16, the nitrogen atom of the lactam ring seems more nucleophilic than 
that of the amide in S-16 probably due to the rigid conformation of the DKP ring.   
    The table below summarizes our optimization of the ring closure to afford diketopiperazines 
from dipeptides.  Normally, the addition of weak base is necessary for intramolecular condensation 
reaction between an ester and a secondary amine.10  Initially, we selected compound S-29 as a 
substrate.  When triethylamine was used as a base, the target reaction did not proceed even under 
reflux (entry 1).  In contrast, ammonium hydroxide promoted the reaction efficiently even at room 
temperature, affording the cyclized compound S-31 in good yield.  However, the corresponding 
diastereomer, presumably generated by the epimerization at the α-position of the serine moiety during 
prolonged exposure to basic conditions, was formed in an appreciable amount (entry 2).  In contrast, 
when the reaction time was reduced to 6 h, the desired compound was obtained quantitatively, and the 
diastereomer ratio was greatly improved (entry 3).  To our delight, we found that protection of the 
hydroxyl group efficiently suppressed the epimerization (entry 4).  Thus, TBS-protected S-30 
underwent the cyclization reaction without epimerization under the same conditions as shown in entry 
3.  Although a prolonged reaction time was necessary for completion of the reaction, the desired 
product S-27 was produced in excellent yield.  We applied this condition to S-18 for the preparation 
of 9 (entry 5). 
    We normally kept the concentration of 28% ammonium hydroxide below 7 vol%.  Otherwise, 
nucleophilic attack of ammonia to the methyl ester occurred, giving the corresponding amide in an 
appreciable amount. 
 
 

                                                
10 (a) Chai, C. L. L.; King, A. R. J. Chem. Soc., Perkin Trans. 1, 1999, 1173.  

(b) Kawasaki, T.; Enoki, H.; Matsumura, K.; Ohyama, M.; Inagawa, M.; Sakamoto, M. Org. Lett. 2000, 2, 

3027. 



 S-24 

Table S-1 

MeO2C

N
H

HN

OR2

O

Me

N

HN

N

O

O OR2

Me

N

S-29: R1 = H, R2 = H toluene Et3N reflux

entry

1

base
solvent

(concentration) timetemp.

MeOH (6 mM)

2

3

4

5

67 hrt
28% NH4OH aq.

(7 vol%)
S-30: R1 = H, R2 = TBS

rt

rt 6 h

MeOH (6 mM)
28% NH4OH aq.

(7 vol%)

28% NH4OH aq.
(7 vol%)

MeOH (6 mM)

27 h

yield

94%

quant.

quant.

material

S-29: R1 = H, R2 = H

S-29: R1 = H, R2 = H

13%

a) Yield and distereomer ratio were estimated by 1H NMR. b) Not determined. c) Not detected.

distereomer ratioa

1 : 0.23

1 : 0.05

MeOH (6 mM) 58 hrt
28% NH4OH aq.

(4 vol%)S-18: R1 = Boc, R2 = TBS 79% (isolated)

S-29: R1 = H       R2 = H

S-30: R1 = H       R2 = TBS

S-18: R1 = Boc    R2 = TBS

S-31: R1 = H       R2 = H

S-27: R1 = H       R2 = TBS

      9: R1 = Boc   R2 = TBS

36 h

R1

R1

b

c

c

 
 
(J) Additional note-3: Stereochemical model of bromocyclization (9 -> 10) 
    As discussed above, the relative configuration of the tetracyclic bromide 10 was determined by 
X-ray analysis of ent-S-24.  This bromocyclization reaction was highly stereoselective, and the 
corresponding epimer was not detected.  The excellent exo-selectivity observed in this reaction can 
be explained as follows:  The DKP ring being co-planar, the N-Me group is considered to be on the 
same plane.  In order to avoid steric interaction with the N-Me group, it is likely that the 
TBS-oxymethyl group is located at the pseudo-axial position.  This idea is also supported by the 
X-ray analysis (Figure S-1).  For the formation of the endo-oriented product, the indole ring must 
point to the TBS-oxymethyl group, which may cause severe steric repulsion.  As a result, the 
transition state model B should be destabilized considerably, thereby minimizing the formation of 
endo-10.  In contrast, it seems that reaction via transition state model A proceeds smoothly to afford 
exo-10.  



 S-25 

HN

N

O

O OTBS

Me

N

Boc

NBS

NBS

O N

N

H O

H

Me

H

OTBSN
Boc

Br+
ent-9

O

N

N

N

O

O

Me

H
OTBS

Br

Boc

N

N

H O

H

Me

H

OTBS

N

Boc

Br+

A

ent-10 (exo)

H

ent-10 (endo)

N

N

N

O

O

Me

H
OTBS

Br

Boc

H

B Not observed.  
    We also tested the reaction of less sterically hindered S-32.  After the removal of the TBS group 
under acidic conditions, the obtained alcohol was subjected to bromocyclization reaction.  Again, 
S-33 with exo-stereochemistry was isolated as a single isomer in 58% yield. 

N
HN

N

O

O

Me

OHBoc
N

N

N
Br

Boc

O

O

Me

OH

H

H

NBS

ent-10

TBAF (2.0 eq)
AcOH (10 eq)

THF, 60 °C, 2 h MeCN, -30 °C

S-33 (exo)

 (58%)

S-32

 

    In contrast, the stereoselectivity of the bromocyclization reaction was found to vary depending 
on the size of the substituents on the DKP ring in previous reports on total syntheses of 
(-)-ditryptophenaline (2) and (+)-11,11’-dideoxyverticillin (4).  However, those reactions were 
carried out before N-methylation of the DKP substrates.  Although a tosyl group was used as a 
protecting group of the indole ring and Br2 as an electrophile in place of NBS, we speculate that the 
difference in stereoselectivity observed between our case and the previous examples depends upon 
whether or not an N-methyl group is present, since it may considerably affect the conformation of the 
DKP substrates.   
 
(K) Additional note-4: Details of radical bromination of tetracyclic DKP. 
    As discussed in the main text, the desired radical bromination of 10 proceeded smoothly to give 
tribromide 11 almost quantitatively.  A model study indicated that the bulky bromine atom at the 
benzylic position played an important role in this reaction.  Thus, when reduced compound S-23 was 
subjected to the same radical reaction, overbromination occurred at the methylene part of the 



 S-26 

tryptophan unit, affording tribromide S-34 as a single isomer.  Interestingly, the tribromide was 
always a major product, even when the amount of NBS was reduced, indicating that the undesired 
bromination reaction was fast.  

N

NMe

N

O

O
H

OTBS

H
H

Boc

 NBS (3 eq)
 AIBN

CCl4, rt, 2 h
quant.

N

NMe

N

O

O
H

OTBS

H
Br

Boc

Br

Br

single isomer
ent-S-23 S-34

MeOH, AcONa

rt, O/N N

NMe

N

O

O
H

H
O

Boc

Br

O

Me

OTBS

Me

S-35 (39%, dr = 1 : 0.8)

AIBN
Bu3SnH

toluene, reflux
N

NMe

N

O

O
H

H
O

Boc

O

Me

OTBS

Me

S-36 (low yield)
(recovery of S-35)

3
12

 

    Molecular modeling and careful analysis of the 1H NMR spectrum of crude S-34 revealed the 
relative stereochemistry of two hydrogen atoms at C-3 and C-12 positions to be trans, and that of two 
neighboring bromine atoms to be trans, since no coupling was observed between the C-3 and C-12 
hydrogen atoms.  Similar overbromination was previously well documented in the literature.11  It is 
known that a hydrogen atom next to the bromine atom can be readily abstracted by a radical species to 
give a carbon radical, because the generated carbon radical is stabilized by the next bromine atom as a 
result of the positive interaction of the bonding orbital of the C-Br bond.12  Such a mechanism allows 
stereoselective bromination reaction to proceed, which is in accord with the orientation of two 
bromine atoms within S-34.  Although the obtained tribromide was converted to the corresponding 
methyl ethers S-35 with a diastereomeric ratio of about 1:1, the subsequent removal of the remaining 
bromine atom was difficult probably because of the steric repulsion caused by the neighboring 
methoxy group.  Taken together with this difficulty, the stereoselective nature of the bromination 

                                                
11 (a) Yoshimura, J.; Sugiyama, Y.; Nakamura, H. Bull. Chem. Soc. Jpn. 1973, 46, 2850. 

(b) Yoshimura, J.; Nakamura, H.; Matsunari, K. Bull. Chem. Soc. Jpn. 1975, 48, 605. 

(c) Caballeroa,E.; Avendañoa, C.; Menéndeza, J. C. Tetrahedron: Asymmetry 1998, 9, 967. 

(d) Caballero,E.; Avendaño. C.; Menéndez, J. C. Tetrahedron 1999, 55, 14185. 
12 (a) J. March. In Advanced Organic Chemistry (5th edition) John Wiley and Sons, New York, 1992, 

pp899–900. 

(b) Thaler, W. J. Am. Chem. Soc. 1963, 85, 2607. 

(c) Skell, P. S.; Pavlis, R. R.; Lewis, D. C.; Shea, K. J. J. Am. Chem. Soc. 1973, 95, 6735. 

(d) Skell, P. S.; Traynham, J. G. Acc. Chem. Res. 1984, 17, 160. 



 S-27 

reaction led us to envision that the undesired third bromination would be suppressed if a bulky 
substituent shielded the convex face of the 5,5-fused ring system.  As we hoped, the bulky bromine 
atom in compound 10 effectively minimized the undesired over-bromination at the methylene part, 
and the di-brominated product was exclusively formed. 

  
(L) Additional note-5: On the stereochemistry of diols 
    Although the exact stereochemistry at the aminal moiety has not been determined, we tentatively 
assign the stereochemistry of 12 on the basis of the following experimental results.   
    When a mixture of 12 and its stereoisomer S-12a was treated with Co(I) complex, symmetric 13 
and non-symmetric S-37 were obtained in 30% and 20% yield, respectively.  In this reaction, three 
isomers can be in principle formed, but the coupling product of minor S-12a and S-12a was not 
isolated.  It is likely that symmetric 13 arises from coupling of two molecules of 12, and 
non-symmetric S-37 is formed from the coupling reaction between 12 and S-12a.   
    While symmetric 13 underwent substitution reaction with H2S in a reasonable yield (see the main 
text), S-37 was less reactive, so only a 6% yield of the final product was obtained.  These results 
indicate that BF3•OEt2 could access to the hydroxyl groups of 13, and the substitution reaction 
proceeded without difficulty.  We speculate that all of the hydroxyl groups within 13 point away to 
the outer surface of the double-decker core structure.  In the case of S-37, however, it is considered 
that at least one hydroxyl group is oriented into the inside of the core structure.  This may prevent 
the access of the Lewis acid to the hydroxyl group, resulting in the low yield.  Based on these results, 
we tentatively assigned the stereochemistry of diol 12 as shown in Scheme 2 (main text).  

N

N

N

O

O

Me

H

Br
HO

Boc

OH OTBS

12 + S-12a (87:13)

N

N

N

O

O
H

N

N

N

O

O
H

Me
Me

HO
OH

OH

HO

Boc

Boc

TBSO

OTBS

symmetric 13 (30%)

N

N

N

O

O
H

N

N

N

O

OH

Me
Me

HO
OH

OH

HO

Boc

Boc

TBSO

OTBS

non-symmetric S-37 (20%)

CoCl(PPh3)3

H2S, BF3•OEt2;
I2

(+)-Chaetocin (1)

44%

H2S, BF3•OEt2;
I2

(+)-Chaetocin (1)

6 %

 

 



 S-28 

(M) Additional note-6: Stereochemical models of H2S-substitution reaction. 
    Because BF3•OEt2 is a widely used Lewis acid for the activation of aminals, we employed it 
here.  Considering the intrinsic nature of borane as a hard Lewis acid, we expected that the resulting 
thiol would be stable under such Lewis acidic conditions.  The activation of the hemiaminal 13 by 
BF3•OEt2 should give an iminium ion intermediate, so that the stereochemistry at the α-position 
would be cancelled.  However, it seems that hydrogen sulfide mainly attacked from the outer surface 
of the double-decker core structure, affording the tetrathiol precursor stereoselectively.  Clean 
formation of the tetrathiol was supported by the 1H NMR analysis of the crude product.    

N+N+

Ha

Hb

H

N

O

O
OR

R'

Me

N+
N+

Ha

Hb

H
N

O

O RO
R' H

S
X

S
S

S
S

S
X

Me

13

BF3•OEt2

N

N

H
N

O

O
H

N

N

N
H

O

O
H

Me
Me

HS
SH

SH

HSHO

OH

H2S

I2

(+)-Chaetocin (1)  
    We also tested ZnCl2 as a Lewis acid.  Matsunari et al. reported ZnCl2–promoted substitution 
reaction of methyl aminal with H2S in good yield.9  According to Matsunari’s protocol, we tested the 
reaction of tetraol 13 using ZnCl2.  However, the substitution reaction with H2S did not occur. 
 
 
(N) NMR spectra 
 



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 1

6
C

TE
M

P
   

   
  5

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  0
.0

0 
pp

m

0.76

0.94
4.86

1.17
1.16

1.02

1.06

1.97

1.00

0.94

1.04
0.972.89

1.05
1.06

3.73

7.8423
7.4969
7.4813
7.3265
7.2880
7.2715
7.2458
7.1680
7.1533
7.1377
7.0956
7.0809
7.0663
6.8482
6.5083

5.0672
4.8693
4.8556
4.8437
4.8299
4.5771
3.9999
3.9880
3.9761
3.9642
3.9523
3.7828
3.6912
3.3128
3.3027
3.2835
3.2725
3.2294
3.2166
3.2001
3.1864
2.6477
2.5890

0.0000

SOC
画像

SOC
画像




P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
50

0
C

TE
M

P
   

   
  5

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

172.2304
170.2770

136.4655
128.7356
128.3541
128.0947
127.5453
123.0203
122.4861
119.9070
118.5182

111.4675
109.8803

 77.4194
 77.1600
 76.9082

 67.8964

 61.0822
 60.6244

 52.8258
 52.4977

 31.8491

 27.5989

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 1

6
C

TE
M

P
   

   
  5

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m

0.80

0.88

6.07
0.89
0.91

1.22

2.08

0.98

0.92

0.96

0.92
3.00

2.16

2.84

8.61

5.27

7.9590
7.5156
7.5019
7.3406
7.3214
7.3003
7.2838
7.2600
7.2573
7.1720
7.1574
7.1418
7.1006
7.0988
7.0832
7.0685
6.8880
6.6343

5.1015

4.8762

4.6526
4.0471
4.0342
4.0260
4.0132
3.8400
3.6696
3.3315
3.3206
3.3022
3.2912
3.2482
3.2372
3.2198
3.2079
2.7196

0.8185

0.0078
-0.0032

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  3
03

1
C

TE
M

P
   

   
  5

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

172.1617
169.2850

136.8547
136.4502
128.6746
128.2015
128.0870
127.7513
122.8524
122.4403
119.8917
118.7013

111.3530
110.3076

 77.4118
 77.3660
 77.1600
 76.9082

 67.6522

 61.3951
 60.7846

 52.9174
 52.3375

 31.6278
 27.8125
 25.8285

 18.1445

 -5.4572
 -5.5335

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
N

O
N

O
FR

   
   

39
9.

65
 M

H
z

O
B

S
E

T
   

   
12

4.
00

 K
H

z
O

B
FI

N
   

 1
05

00
.0

0 
H

z
P

O
IN

T
   

   
 3

27
68

FR
E

Q
U

   
  7

99
3.

60
 H

z
S

C
A

N
S

   
   

   
 3

2
C

TE
M

P
   

   
  5

0.
5 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m 0.94

1.07
7.74

1.07

0.76

1.93
0.94

0.80

0.93

0.87
3.02

1.90

3.00

9.95

9.47

6.13

8.1143
8.0935
7.4632
7.3643
7.3161
7.3088
7.2881
7.2698
7.2667
7.2600
7.2240
7.2051
7.1868
6.9964

5.1170
5.0956
5.0657
4.9156
4.9010
4.6325

4.0705
4.0540
4.0437
4.0272
3.8429
3.6861
3.2852
3.2718
3.2486
3.2364
3.1924
3.1790
3.1558
3.1436
2.7995

1.6645

0.8060

0.0133
-0.0038

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  1
00

0
C

TE
M

P
   

   
  5

0.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

171.8184
169.3689

149.6589

136.7173
135.6414
130.6586
128.6136
128.1328
128.0107
124.7372
124.1725
122.7990
118.8997
115.5117
115.2065

 83.8063

 77.4194
 77.1600
 76.9082

 67.7209

 61.4332
 60.9525

 52.6808
 52.4290

 32.0628
 28.3772
 27.6370
 25.7904

 18.0987

 -5.4953
 -5.5640

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
  8

C
TE

M
P

   
   

  5
0.

0 
c

S
LV

N
T

D
M

S
O

E
X

R
E

F
   

   
  7

.2
6 

pp
m 1.00

1.02

1.08
1.02

0.64
0.99

1.06

1.06
2.87

1.07

2.27
1.04

3.34

10.79

11.25

6.96

8.1120
8.0955
7.8683
7.8518
7.5037
7.4881
7.3910
7.3021
7.2875
7.2719
7.2600
7.2243
7.2087
7.1940

4.9366
4.9247
4.9202
4.9119
4.9082
4.8963
3.8244
3.8162
3.8043
3.7960
3.6733
3.5395
3.5239
3.5194
3.5038
3.2143
3.2097
3.2024
3.1978
3.0604
3.0521
3.0448
3.0365

2.3787

1.6577

0.8506

0.0389
0.0160

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
78

2
C

TE
M

P
   

   
  5

0.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

172.0854
171.8336

149.6360

135.5727

130.6509

124.6151
124.0809
122.5853
119.0065
115.3896

 83.6384
 77.4194
 77.3660
 77.1600
 76.9082

 66.9120
 63.2264

 52.2688
 52.1314

 35.2906

 28.3467
 27.8583
 25.8972

 18.2589

 -5.3198
 -5.3961

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
  8

C
TE

M
P

   
   

  5
0.

0 
c

S
LV

N
T

C
D

C
L3

E
X

R
E

F
   

   
  7

.2
6 

pp
m

0.96

0.95
0.91
0.88

1.39

0.99

1.03
0.98
0.97
1.07

1.00

4.06

11.68

9.20

6.22

8.1642
8.1478
7.6155
7.5990
7.4588
7.3443
7.3305
7.3159
7.3141
7.2682
7.2664
7.2600
7.2508
7.2380
7.2362

5.9472

4.2202
4.2147
4.2101
4.1982
4.1927
4.1881
4.0965
4.0920
4.0755
4.0709
3.9976
3.9921
3.9765
3.9710
3.8739
3.8684
3.8638
3.5963
3.5908
3.5679
3.5624
3.0933
3.0714
3.0649
3.0420
3.0182

1.6687

0.9395

0.1250

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
75

4
C

TE
M

P
   

   
  5

0.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

166.2251
165.8130

149.5368

136.0687

129.8268
125.0653
124.6990
123.0432
119.2507
115.6720
115.4049

 84.0200

 77.4118
 77.1600
 76.9082

 64.3634
 62.3107

 55.7407

 32.7801
 32.4749
 28.3467
 26.2024

 18.8236

 -5.1290
 -5.1977

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
  8

C
TE

M
P

   
   

  2
4.

3 
c

S
LV

N
T

C
D

C
L3

E
X

R
E

F
   

   
  7

.2
6 

pp
m

0.79

1.00
1.49

1.02

0.91

1.00

1.01 1.00
0.99

1.02

3.06
0.98

9.58

9.33

6.05

7.7007
7.4084
7.3928
7.2838
7.2820
7.2673
7.2600
7.2527
7.2499
7.1006
7.0988
7.0859
7.0841
7.0704
7.0685
6.8294

4.2834
4.2816
4.2633
4.2614
3.9802
3.9280
3.9225
3.9078
3.9023
3.7905
3.7823
3.7658
3.7566
3.1392
3.1309
3.1153
3.1071
2.9055
2.8515
2.8277
2.8029

1.5689

0.8964

0.1094
0.1067

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
52

4
C

TE
M

P
   

   
  2

5.
5 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

164.5769
163.8825

151.5513

142.2190

130.9714
130.8570
125.3018
124.2183

115.4125

 84.0352
 82.9669
 77.4194
 77.3660
 77.1600
 76.9082

 64.3100
 61.3645
 59.6171
 58.4496

 50.5443

 31.7271
 28.4459
 26.1872

 18.7168

 -5.1214
 -5.2664

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
N

O
N

O
FR

   
   

39
9.

65
 M

H
z

O
B

S
E

T
   

   
12

4.
00

 K
H

z
O

B
FI

N
   

 1
05

00
.0

0 
H

z
P

O
IN

T
   

   
 3

27
68

FR
E

Q
U

   
  7

99
3.

60
 H

z
S

C
A

N
S

   
   

   
 1

6
C

TE
M

P
   

   
  2

2.
5 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  0
.0

0 
pp

m

1.16

1.09
1.19

0.98

0.99

0.91

1.00

0.95

0.95

2.73

9.17

8.94

2.84 2.95

7.7952
7.7745
7.5017
7.4828
7.3943
7.3913
7.3730
7.3553
7.3516
7.2571
7.2095
7.1905
7.1716
6.7420

4.6588
4.6320

4.1182
4.0907
3.8509
3.8137

3.4812
3.4433

3.1211

1.6213

0.8512

0.1294
0.0921
0.0000

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 3

2
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  0
.0

0 
pp

m

0.95

0.98
1.01
1.00

0.93

0.97

1.99

1.01

1.04

1.04

2.95

8.67

8.96

5.60

7.6902
7.6746
7.4520
7.4364
7.3283
7.3265
7.3118
7.2971
7.2953
7.2605
7.1570
7.1423
7.1267
6.6320

4.5780

4.1520
4.1300
4.0961
4.0741
3.8213

3.4447
3.4163
3.1955
3.1671
2.9995

1.5969

0.9015

0.1383
0.1301
0.0000

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  1
60

0
C

TE
M

P
   

   
  2

5.
1 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

167.8657

163.6841

152.0702

141.0286

134.2908

130.5136

124.5769
124.1496

117.3202

 87.5987
 85.5003
 85.4164
 83.0509
 77.4194
 77.3660
 77.1600
 76.9082

 63.2264

 58.3428

 51.7270

 28.2627
 27.9346
 25.9201

 18.3429

 -5.2359
 -5.4419

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 3

2
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T 
   

   
   

   
 T

H
F-

d8
E

X
R

E
F

   
   

  1
.7

3 
pp

m

1.00

1.06

1.12
1.11

0.81
0.94

0.81

1.00

1.214.18

1.19

3.05

8.80

8.81

2.87
2.79

7.6154
7.3689
7.3671
7.3533
7.3515
7.1765
7.1738
7.1591
7.1454
7.1426
6.9979
6.9960
6.9823
6.9805
6.9676
6.9658
6.5187
6.4665

5.7409

4.0863
4.0662
3.6374
3.6072
3.5852
3.5742
3.5724
3.5669
3.5641
3.5586
3.5541
3.5348
3.1106
3.0804
2.8422

1.7428
1.7364
1.7300
1.7227
1.7163
1.6824
1.5752

0.5912

-0.1133
-0.2690

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  2
16

9
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T 
   

   
   

   
  T

H
F-

d8
E

X
R

E
F

   
   

 6
7.

70
 p

pm

167.6923
166.3874

152.3470

141.6793

136.0098

131.0880
129.3253
125.6168
125.1437

118.0929

 87.7229
 87.6542
 86.6012
 82.7095

 68.2341
 68.0510
 67.8755
 67.7000
 67.5245
 67.3490
 65.1361
 60.0312

 51.7366

 28.7149
 27.2040
 27.1735
 26.4562
 26.4410
 26.1128
 25.9373
 25.7771
 25.6169
 25.4566
 25.2964
 18.9705

 -5.0203
 -5.4705

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
N

O
N

O
FR

   
   

39
9.

65
 M

H
z

O
B

S
E

T
   

   
12

4.
00

 K
H

z
O

B
FI

N
   

 1
05

00
.0

0 
H

z
P

O
IN

T
   

   
 3

27
68

FR
E

Q
U

   
  7

99
3.

60
 H

z
S

C
A

N
S

   
   

   
 1

1
C

TE
M

P
   

   
  2

3.
6 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  0
.0

0 
pp

m

0.72
0.92

1.07

0.95

1.03 1.01

1.00
0.99
1.04

1.05
3.06

10.04

9.51

6.05

7.5866
7.5676
7.4499
7.4310
7.2784
7.2552
7.2387
7.1448
7.1259
7.1069
6.7555

4.4300
4.4062
4.4026

3.7759
3.7490
3.6178
3.5916
3.5007
3.4659
3.1571
3.1523
3.1230
3.1175
2.9771

1.6188

0.7512

0.0000
-0.0635
-0.1141

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  2
00

0
C

TE
M

P
   

   
  2

5.
1 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

166.2785
164.8592

151.8489

140.6089

134.6265

130.1092

124.6685
124.3404

117.1676

 88.0184
 85.2256
 84.7296
 82.9364
 77.4194
 77.3660
 77.1600
 76.9082

 65.9277

 58.2817

 51.2692

 28.2627
 27.0342
 26.0041

 18.7168

 -5.7471
 -5.8845

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 1

6
C

TE
M

P
   

   
  2

3.
3 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m

1.01

1.05
0.92

1.10

0.90

0.88

0.92

1.11
2.27

1.06

3.00

9.57

9.60

5.91

7.6402
7.3947
7.3800
7.2930
7.2774
7.2600
7.1152
7.1006
7.0850

6.5711

5.2765

4.0406
3.7795
3.7585
3.7099
3.6888
3.6531
3.3343
3.3041

2.8652

1.6257

0.9166

0.1571

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
71

7
C

TE
M

P
   

   
  2

5.
2 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

166.5532
164.9584

151.6887

139.7696

134.7791

130.6128

124.7295
124.6685

116.8013

 87.2096
 85.5461
 84.9891
 82.9593
 77.4118
 77.1600
 76.9082

 65.7216

 57.2516

 49.9338

 28.4153
 27.0495
 26.0269

 18.8007

 -5.4648
 -5.4877

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 1

6
C

TE
M

P
   

   
  2

3.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m

1.00

1.05

2.08 0.95

1.06

1.01

1.00

3.02

9.05

8.81

2.88
2.95

7.8280
7.8115
7.3507
7.3360
7.2600
7.1876
7.1730
7.1565
7.1528
7.1491
7.1345
7.1189
7.0969
7.0942
7.0905
7.0887

5.6118
5.6027

4.0874
4.0855
4.0663
4.0645
3.8757
3.8556

3.1062

1.6816

0.6023

-0.0362
-0.1425

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  5
00

0
C

TE
M

P
   

   
  2

5.
2 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

163.4704

157.9382

148.7203

140.2122

134.3671

125.4392
124.8669
123.6307
121.2881
119.5865
115.6033
115.5346
110.0024

 87.4995
 85.2790

 77.4118
 77.1600
 76.9006

 64.6991

 28.1559
 26.6450
 25.4928

 17.8240

 -5.6403
 -5.7624

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 1

6
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  0
.0

0 
pp

m

0.93

1.00
1.11

1.00

0.93

1.01
1.02
1.04

1.02
1.05

2.99
1.06

8.63

8.95

5.76

7.7012
7.6938
7.4364
7.4217
7.3265
7.3246
7.3100
7.2953
7.2935
7.2614
7.1441
7.1286
7.1139
6.7328

4.0604
4.0411
3.9239
3.9138
3.8991
3.8900
3.8185
3.7993
3.4621
3.2606
3.2505
3.2358
3.2267
2.9592
2.8611
2.8364
2.8126

1.6014

0.9107

0.1292
0.1264
0.0000

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
25

9
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

165.0957
164.6303

151.6276

142.0588

131.0554
130.9867

124.9203
124.4930

116.0458

 85.9429
 84.2870
 83.1653
 77.4118
 77.3584
 77.1600
 76.9006

 64.6762

 58.9227
 58.2970

 48.9952

 28.2780
 27.1868
 26.0498

 18.5260

 -5.1901
 -5.3122

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
N

O
N

O
FR

   
   

39
9.

65
 M

H
z

O
B

S
E

T
   

   
12

4.
00

 K
H

z
O

B
FI

N
   

 1
05

00
.0

0 
H

z
P

O
IN

T
   

   
 3

27
68

FR
E

Q
U

   
  7

99
3.

60
 H

z
S

C
A

N
S

   
   

   
 4

9
C

TE
M

P
   

   
  5

5.
5 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m

2.03

5.25
2.03

2.00

1.88

2.03 2.16
1.90

1.89

6.26
2.12

1.97

19.20

19.48

12.78

7.5212
7.5016
7.2698
7.2600
7.2502
7.1239
7.1209
7.1026
7.0849
7.0824
6.9091
6.9067
6.8902
6.8884
6.8719
6.8695
6.4143

4.2774
4.2286
4.2011
4.1590
4.1315

3.3743
3.0753
2.9294
2.8941
2.8520
2.8166

1.6584

0.9420

0.1836
0.1714

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  1
00

0
C

TE
M

P
   

   
  2

5.
4 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

169.1476

163.1194

151.2156

141.7078

131.6429
129.6818

123.3331
122.4175

117.0073

 86.7670
 85.4011
 82.6770
 79.7468
 77.4194
 77.3660
 77.1600
 76.9082

 62.5473

 56.7327

 42.5778

 28.1483
 27.8583
 25.9125

 18.3810

 -5.1367
 -5.5716

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 1

6
C

TE
M

P
   

   
  2

3.
3 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m

1.00

2.03
1.04

1.02

1.01

1.01
1.05
1.03
1.00

2.98

0.99

1.01

8.94

9.18

5.80

7.6888
7.6723
7.2618
7.2600
7.2224
7.2069
7.1904
7.1858
7.1702
7.0282
7.0136
6.9989
6.6123
6.5967

4.9999

4.2395
4.2184
4.0920
4.0058
3.9903
3.9747
3.8510
3.8308

2.9394
2.6857
2.6582
2.4878
2.4704
2.4603
2.4429

1.5625

0.8515

0.0902
0.0618

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
84

5
C

TE
M

P
   

   
  2

5.
4 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

168.5143

163.9206

152.4441

142.1732

132.9478

128.2931
123.8291
123.6307

116.5647

 87.5530
 86.0116
 82.3336
 77.4576
 77.4194
 77.1600
 76.9082

 63.4935

 42.2803
 41.6240

 28.3467
 27.6828
 25.8514

 18.3123

 -5.2664
 -5.4953

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 6

3
C

TE
M

P
   

   
  2

3.
7 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m

1.94
2.35

1.85
1.84

3.71

4.17

2.00

1.96

6.09

1.95

7.4249
7.4102
7.2600
7.2499
7.2353
7.2325
6.9384
6.9366
6.9229
6.9210
6.9082
6.9064
6.7506
6.7350

5.2536

4.2715
4.2596
4.2459
4.2340
4.1982
4.1799
4.1726
4.1542
3.8510
3.8208
3.3096
3.2976
3.2912
3.2793
3.0778
2.7590
2.7287

SOC
画像

SOC
画像

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  4
99

5
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

165.8435
163.0049

149.2774

130.5670
127.5834
125.3553

120.4716

110.8723

 80.6930
 77.4118
 77.3660
 77.1600
 76.9082
 75.9849
 73.5049

 60.6625
 59.9910

 39.3882

 27.4691

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

  1
30

3
C

TE
M

P
   

   
  2

3.
5 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m

2.35
3.06

2.25
2.20

3.75

3.88

1.81

1.79

6.00

1.91

7.4258
7.4102
7.3177
7.2884
7.2600
7.2371
6.9393
6.9238
6.9091
6.7525
6.7360

5.2490
5.2326

4.2715
4.2596
4.2459
4.2340
4.2001
4.1817
4.1753
4.1561
3.8519
3.8217
3.2747
3.2628
3.2555
3.2436
3.0778
2.7590
2.7287

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 3

2
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  0
.0

0 
pp

m

0.86

1.73
0.84

0.82

1.38

1.05
3.00

3.08

1.00

1.04

9.49

8.63

5.56

7.7140
7.2614
7.2211
7.2055
7.1991
7.1845
7.0324
7.0177
7.0031
6.7768
6.7612

4.3096
4.2967
4.2830
4.2711
4.2683
4.2509
4.2482
3.9798
3.9486
3.9294
3.9239
3.9165
3.9092
3.9037
3.8964
3.8872
2.9390
2.4690
2.4599
2.4461
2.4360
2.2950
2.2785
2.2711
2.2546
2.2473
2.2308

1.5758

0.8868

0.0852
0.0696
0.0000

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

 3
50

58
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

166.2022
163.8138

152.2457

143.2797

130.2618
128.7433
124.9508
123.4552

115.0615

 82.3183
 77.4194
 77.1600
 76.9082
 75.4736

 64.5542
 61.6087

 57.0761

 42.7457
 39.7774

 31.7728
 28.6061
 26.0727

 18.7320

 -5.2130
 -5.2435

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 6

4
C

TE
M

P
   

   
  2

3.
7 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  7
.2

6 
pp

m

0.93

2.36
1.07

0.93

1.00

1.94
2.07

2.84

2.05

1.02

8.35

7.6750
7.2600
7.2307
7.2160
7.2050
7.1995
7.1904
7.0465
7.0310
7.0163
6.7662
6.7506

4.2514
4.2477
4.2385
4.2340
4.2294
4.2248
4.2156
4.2120
4.0287
4.0205
4.0132
3.9976
3.9426
3.9325
3.9252
3.9170
3.9078
3.9023
3.8931
3.8849
2.9981
2.5748
2.5418
2.5317
2.5180
2.5079
2.3366
2.3201
2.3128
2.2963
2.2881
2.2725

1.5799

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

  1
48

6
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

166.7974
164.3556

152.1465

143.0736

130.2770
128.7204
124.8135
123.5239

115.1836

 82.3794
 82.3412
 77.4118
 77.3660
 77.1600
 76.9082
 75.4507

 63.9666
 60.3268
 57.1829

 42.7686

 39.0830

 31.7728
 28.5069

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 1

6
C

TE
M

P
   

   
  6

0.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  0
.0

0 
pp

m

1.87

2.06

2.39

2.21

2.00

2.15

2.14

4.25

6.00
2.16

2.13

18.75

19.02

5.98 6.23

7.4877
7.4721
7.2458
7.2266
7.0626
7.0479
7.0333
6.8473
6.8327
6.8180

6.4699

4.2894
4.2839
4.2674
4.2619
4.0897
4.0842
4.0677
4.0631
3.8579
3.8433
3.8332
3.8194
3.8103

2.9747
2.8263
2.8162
2.8016
2.7924
2.4113
2.3875
2.3637

1.6106

0.9143

0.1200
0.0980
0.0000

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
76

5
C

TE
M

P
   

   
  6

0.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

166.1946
162.6234

151.4292

143.4323

130.0710
129.7734

123.4094
122.6922

116.0840

 82.5015
 78.4572
 77.4118
 77.1600
 76.9006

 63.7682
 61.7384
 58.7167
 58.3809

 38.7854

 31.1166
 28.4688
 26.1567

 18.5565

 -4.9993
 -5.2359

SOC
画像



P
P

M

9.
0

8.
0

7.
0

6.
0

5.
0

4.
0

3.
0

2.
0

1.
0

0.
0

O
B

N
U

C
1H

E
X

M
O

D
si

ng
le

_p
ul

se
.e

xp
O

FR
   

   
50

0.
00

 M
H

z
O

B
S

E
T

   
   

16
2.

00
 K

H
z

O
B

FI
N

   
   

41
6.

02
 H

z
P

O
IN

T
   

   
 1

63
84

FR
E

Q
U

   
  7

50
7.

51
 H

z
S

C
A

N
S

   
   

   
 2

5
C

TE
M

P
   

   
  2

5.
0 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

  0
.0

0 
pp

m

2.05
1.95

1.93

1.89

2.00

1.92

3.94
2.21

4.07

6.00

4.03

7.3155
7.3008
7.2614
7.1496
7.1341
7.1185
6.8336
6.8189
6.8043
6.6201
6.6045

5.7287

4.9151

4.3004
4.2757
4.2427
4.0631
4.0503
4.0402
4.0274
3.9569
3.9358

2.9867

2.5157
2.5029
2.4901
2.4745
2.4507
2.4260

1.6756

0.0000

SOC
画像



P
P

M

18
0.

0
17

0.
0

16
0.

0
15

0.
0

14
0.

0
13

0.
0

12
0.

0
11

0.
0

10
0.

0
90

.0
80

.0
70

.0
60

.0
50

.0
40

.0
30

.0
20

.0
10

.0
0.

0
-1

0.
0

-2
0.

0

O
B

N
U

C
13

C
E

X
M

O
D

si
ng

le
_p

ul
se

_d
ec

O
FR

   
   

12
5.

00
 M

H
z

O
B

S
E

T
   

   
77

7.
00

 K
H

z
O

B
FI

N
   

   
87

5.
47

 H
z

P
O

IN
T

   
   

 3
27

68
FR

E
Q

U
   

 3
14

46
.5

4 
H

z
S

C
A

N
S

   
   

   
38

2
C

TE
M

P
   

   
  2

5.
1 

c
S

LV
N

T
C

D
C

L3
E

X
R

E
F

   
   

 7
7.

16
 p

pm

166.3319
164.4319

150.7959

129.7887
127.0950
125.9962

119.1744

109.8040

 78.7014
 77.4118
 77.3584
 77.1600
 76.9082

 64.2108
 61.0746
 59.9910
 58.1673

 39.0677

 31.5821

SOC
画像




